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Wednesday, November 21, 2012


--- On commencing at 9:40 a.m.

MR. MILLAR:  Okay, good morning everyone.  We are now on the record.  This is the technical conference in EB-2012-0064.  It's scheduled for two days, today and Friday as necessary, and I am pretty certain it will be necessary.


My name is Michael Millar.  I am counsel for Board Staff.  I am sitting at the dais only because this is the only place I can see you.  I am acting only as an MC, of course, and I am not here representing the panel nor do I have the power to make any rulings or anything of that nature.


I would suggest -- we have a lot of people in the room.  Why don't we do appearances just so it is clear who is here so we don't miss anyone, and then we will see if there are any preliminary matters.  I don't think they are.  Maybe then we will turn it over to Mr. Cass if he has any introductory remarks or if he wants to introduce his first panel.


Why don't we take appearances?  Can we start with you, Jack?

Appearances:


MR. GIBBONS:  Jack Gibbons for Environmental Defence.


MR. BRETT:  Tom Brett for Building Owners and Managers Association.


MR. CASS:  Fred Cass for Toronto Hydro.


MS. KLEIN:  Amanda Klein for Toronto Hydro.


MS. GIRVAN:  Julie Girvan for Consumers Council of Canada, and I just have to say that I have some questions for the various panels, not that many, and I am going to give them to Bill Harper, because I shortly have to leave and attend another meeting.


MR. HARPER:  My name is Bill Harper here for Vulnerable Energy Consumers Coalition.


MR. CROCKER:  David Crocker and Shelley Grice for AMPCO.


MR. RUBENSTEIN:  Mark Rubenstein, School Energy Coalition.


DR. HIGGIN:  Roger Higgin for Energy Probe.


MR. FAYE:  Peter Faye for Energy Probe.


MR. BLUE:  Ian Blue and Michelle Mondorf for the city of Toronto.


MR. MILLER:  I neglected to introduce the other Staff members who will actually be asking most of the questions on behalf of Staff.  It is Martin Davies, Nabih Mikhail and David Richmond to my left.


I think that is everyone.  Mr. Cass, did you have anything to say off the top or would you just like to introduce your first panel?


MR. CASS:  No, I don't have anything to say off the top, Mike.  In the interests of time, I think it would be best to start with the first panel.


As Amanda indicated, because of the issues with availability of particular witnesses, it is proposed to start with panel 2, and if those people can come forward to the witness stand, I will introduce them after they have taken their places.


Mr. Millar:  While the panel is coming up, we hadn't had any discussion on order.  I know a lot of people have questions for this panel.  Anyone like to go first?  Mr. Faye.  Thank you.

THESL - PANEL 2, CAPITAL PROJECTS A


Chris Kerr


Guy Paradis


Mary Byrne


Eugene Schlatz


Steve Fenrick


Erik Sonju


MR. CASS:  Mike, I think everyone would have the CVs that were sent out and the panel composition.  So that people can match the names and the faces, I will introduce the members of the panel.


Starting with the person closest to the reporter and furthest from me, that is Chris Kerr.


Beside Chris is Guy Paradis, and then next is Mary Byrne.  Then Eugene Schlatz from Navigant, and Steve Fenrick from PSE and Erik Sonju from PSE.


Again, I won't spend any time on qualifications or titles and so on.  People have the CVs.  I hope that is enough information for people to be able to match up the witnesses with the information that has been provided to them.


MR. MILLAR:  Okay.  Then let's get right to it.  Mr. Faye, your questions.

Questions by Mr. Faye:


MR. FAYE:  Thanks, Mike.  Our questions were submitted in writing in advance, so I don't believe the company has actually had time to create a written answer, and I propose that the best way of getting it on the record is for me to just read through the question, and then the company can provide whatever answers they're able.


So our first question is our TCQ No. 3, and the reference is tab 6F, schedule 7-24.  This question has to do with some estimated costs for underground direct buried cable replacement.  On table 2 of the response to our IR, this sets out various options and various costs within those options.


One of the options is to perform reactive work on the feeder; that is, to fix the thing when it goes out of service rather than doing it on a proactive or planned basis.


The numbers that are provided in option one for doing this work reactively appear to be the same as for option 3, which is doing it on a planned basis.


It was our understanding from some of the evidence that having to do things on a reactive basis is always more expensive than doing it on a planned basis, and we understood that to be related to things like overtime, call-outs in the middle of the night to do this kind of stuff.


So we were wondering, why would the numbers be the same for reactive work as for planned work?


MR. KERR:  Mr. Faye, I can comment on your question here.  This is Chris Kerr speaking.  We can confirm that the costs in the table are accurate.  The question had asked is this correct, that the impression created in evidence is more costly than planned work.  I would say that by and large that does apply.


However, in this specific example that was given in the IR, the costs in the table are accurate as they stand.


MR. FAYE:  So I am not certain how to understand this, then.


Are you saying that in some cases reactive work is more expensive than planned work and in other cases it is not, that the costs are the same or very similar whether you do it on a reactive basis in the middle of the night or whether it is planned and done during normal business hours?  Is that what you're saying?


[Witness panel confers]


MR. KERR:  For the vast majority of instances where we have to undertake reactive work on the system, I would say that, yes, by and large, the cost typically is higher than to replace an asset on a planned basis.


So I believe the numbers in the table are correct for this specific instance that was given for this -- I guess we will call it a hypothetical example, but if you would like, I can verify the numbers. 


MR. FAYE:  I am not certain I fully understand so if you wouldn't mind an undertaking to come back to us with why is this circumstance different than your normal reactive work which ordinarily would be more expensive, that would be fine.


MR. KERR:  Sure.


MR. MILLAR:  JT1.1. 

UNDERTAKING NO. JT1.1:  TO PROVIDE EXPLANATION AS TO WHY NUMBERS ARE SAME FOR REACTIVE WORK AS FOR PLANNED WORK; REFERENCE TAB 6F, SCHEDULE 7-24.

MR. FAYE:  Part (b) of that technical question concerns the material costs for cable replacement.


And in all options in the table it is quoted as $13.41 per metre, but some of the options have a buried duct bank.  So the question is quite simple:  Is this just the cost of cable, and it doesn't include duct and concrete and that kind of thing?


MR. KERR:  Yes.  So the first column, the $13.41 per meter, is just the cable.


MR. FAYE:  Okay.  That doesn't include the installation cost of the cable, or does it?  It is just the bare material cost?


MR. KERR:  Yes, that is the material cost.


MR. FAYE:  Okay.  So per metre of -- this is -- what size cable is this ordinarily in a residential subdivision?


MR. KERR:  If I may just refer to page 5 of the IR for this question, I believe it states that this table is based on a cable of #1/0 aluminum TR XLPE, with the exception of option 5, which is #3/0 ACSR.


MR. FAYE:  Okay.  Thanks for that.


The next part of the question was to do with repair costs on option 3.  Option 3 is the one where you are going to replace the direct buried cable with tree-retardant direct buried cable.


And this question is:  When you have a fault and you have to go out and dig it up and supplies it back together again, you have quoted a cost to do that of $6,166 and some-odd cents per metre.


And then when we look at option 4 -- and this is the option of putting the same cable, but this time in a reinforced concrete duct bank -- in that circumstance, the cost to repair a faulted cable there is almost the same; it is $6,171.


But in the final column, the total cost per metre, that's broken down into $61.71 per metre.  I understand that, because the segment is based on 100 metres, I take it.


What I am wondering is that -- the significance of that $61.71.  Is that an input to the feeder investment model anywhere?


MR. KERR:  If I may defer that question to panel 1A, they would be best able to answer that one for you.


MR. FAYE:  Okay.  Thanks.  But you could still answer technical questions based on that?


MR. KERR:  Yes.


MR. FAYE:  So if I understand this right -- I am not sure I understand it right -- is your normal duct run 100 metres?  If you get a cable fault, do you have to pull out 100 metres and put 100 metres of new cable in?


It seems like a long way for a cable run for a residential subdivision.


MR. KERR:  On a technical level, I would say our duct runs, there's -- there's no one given size that's the same for every subdivision.  Every subdivision is unique.


So I think in this example it happened that the cable fault that would need to be repaired just happened to be a 100-metre segment of cable, and our typical practice to repair faulted cable in a duct bank would be to remove the actual faulted cable, and to pull in a new cable in its place.


MR. FAYE:  Okay.  Just correct me if I'm misunderstanding.


Your cables run between submersible vaults or between pad-mounted transformers, right?


MR. KERR:  Yes.


MR. FAYE:  So in the case of the duct bank, the duct bank has an opening into each vault at either end, but your submersible transformers, they wouldn't be 100 metres apart, would they?  Or are they?


MR. KERR:  I don't have exact numbers --


MR. FAYE:  No, just an average.


MR. KERR:  -- off the top of my head.


MR. FAYE:  I would have thought they would be much closer, but if they are 100 metres that's fine, or close to it.  I just needed to understand that.


MR. KERR:  Yeah, I can say that there are some that are a fair distance apart.


MR. FAYE:  Okay, good.  That's fine.


Part (d) of that question concerns option 5.  This is one we asked you to price out, even though you are not in favour of replacing direct buried underground with overhead, but we asked you to price it out so there was a complete record.


And a couple of questions on this that -- the electrical labour cost is shown as $8,912, and it is supposedly for grounding and abandoning existing direct buried cable, switching, conductor stringing, primary risers, and pole framing and guying.


Our first part of the question is:  Is the per-segment length of this the 100 metres that appears in other options in the table?  Or is it the 38 metres that is noted in the material injection costs in column 1?


MR. KERR:  So where the 38 metres is coming from is essentially our standard span length for an overhead circuit, whereas with the underground option, the equivalent span length, if you will, could be up to 100 metres between the submersible transformers.  So the 38 metres is just our span length for overhead, which does differ from a span length for the underground.


MR. FAYE:  Okay.  That's good.


Then looking at column 2, "Electrical labour costs (per segment)", is the segment length here the 38 metres?  Or is it consistent with the other options, being 100 metres?  That is what I was unsure of.


MR. KERR:  I believe for this one, the segment is referring to the 100 metres previously noted.


MR. FAYE:  Okay.  Thanks.


Would you be able to break down the cost -- that $8,912 per segment is for the activities that I previously read in.  Can you break down that estimate into those components?  That would be grounding and abandoning existing direct buried cable, switching, conductor stringing, primary risers, and pole framing and guying.


MR. KERR:  If I could take an undertaking to do that one, I think we could do that.


MR. FAYE:  Okay.  Thanks.


MR. MILLAR:  JT1.2.
UNDERTAKING NO. JT1.2:  TO PROVIDE A BREAKDOWN OF $8,912 PER-SEGMENT COST.

MR. FAYE:  Now, the next question on that subject was the reference to primary risers, and I didn't follow that.  It's an overhead system.  Where do primary risers enter into the picture?


Or is it a misprint?  Do you mean secondary risers?


MR. KERR:  I'm sorry, are you referring to one of the lines on the IR?


MR. FAYE:  Yes.  Our TCQ, part (d).


MR. KERR:  Okay.


MR. FAYE:  The footnote on page 8 of that IR response 7-24, it says:  
“The electrical labour cost… includes grounding and abandoning existing direct buried cable, switching, conductor stringing, primary risers…”


I wonder, where do you get primary risers in an overhead system?


MR. KERR:  When our primary lines run overhead, we do typically have a lot of customers which are fed by what we call an underground dip, where we actually have underground cable connected to the overhead primary, and that underground cable dips underground and feeds a specific customer, maybe a large industrial or commercial customer.


So I think what this example is taking into account is that there may be radial feeds off of our feeder to customers that are fed via underground.


So when we -- in the proposed example of replacing the faulted cable with an overhead solution, we would not then change the radial feed to the customers from underground to overhead.  Instead, we would put what is called a riser pole or dip pole.  You could use the terms interchangeably.


MR. FAYE:  Okay.


MR. KERR:  So that is what that one is speaking to.


MR. FAYE:  Then for residential customers or, for that matter, for a small commercial customer, this example, I think, contemplates underground secondaries.  At least that was our intention in asking the question.


Are secondary risers not included here, then, or does this example that you have given back pricing on, is it assuming overhead secondaries?


MR. KERR:  If I could take -- I will have to take an undertaking to get the exact answer to that one for you.


MR. MILLAR:  JT1.3.

UNDERTAKING NO. JT1.3:  TO CONFIRM WHETHER OVERHEAD SECONDARY RISERS ARE ASSUMED IN ANSWER TO ENERGY PROBE TCQ NO. 3(D).

MR. FAYE:  The next question concerns option 5.  This is the overhead replacement instead of replacing direct buried cables with underground duct bank.  We asked to have it costed out as an overhead system.


And the civil cost is shown in that option as $24,203, and the unit that is attached to it is per metre.  I wonder if that is just a misprint.  It's not 24,000 per metre; right?


MR. KERR:  Yes, that's correct.  It wouldn't be per metre.


MR. FAYE:  So it’s per segment, and is the segment the 38-metre segment or is it a 100-metre segment in this case?


MR. KERR:  I believe that one would be for the 100-metre segment.


MR. FAYE:  Hundred metres, okay.  Can we get an undertaking to break down that $24,000 into the component parts that are in footnote 2 on that page?  That would be splice pits required for grounding and abandoning direct buried cable, tree trimming, pole holes, 45-foot poles, deliverability of poles to the site and pole installation and anchoring.


MR. KERR:  If you would like, I do have those numbers broken down.  Would it be more convenient for us to submit that in writing, though, as opposed to just reading it out here?


MR. FAYE:  It probably would be, yes.  If you have it and you could just photocopy it at the break, that would be fine.  But in that case, perhaps you want to read it into the record.


MR. CASS:  Chris, why don't you give us what you've got and we will go from there?  Put it on the record.


MR. KERR:  Okay.  So, sorry, the segment that we spoke of earlier, it's not actually 100 metres.  It is 114 metres, the segment being referred to.


So the breakdown of the civil cost is:  For splice pits and grounding and abandoning direct buried cable, $2,487.33; grounding and abandoning direct buried cable, $350; tree trimming, $7,327.75; pole holes, $1,698.37; poles, $3,440; deliverability of pole to site, $888.24; pole installation, $1,988.68; pole anchoring, $5,362.92; and support services, such as police paid duty, $660.00.


MR. FAYE:  Okay, thanks for that.


By comparison, when you do your direct buried -- when you do your cable in duct, do you also have delivery charges in the option 4 for delivering your cable, delivering your duct work?  Are we comparing apples to apples?  Do you have paid duty cops in there, that kind of thing?  That would be in the --


MR. KERR:  Yes.  Those would be typical costs factored in to getting what we call an estimate for a job.


MR. FAYE:  Okay, good.


Part (f) of that question has to do, again, with option 5, and this is for a repair damage when a car takes out a pole.


It is quoted at $5,625.00, and then broken down from there into a per metre cost of $56.26.


The wording says it is a typical outage caused by pole damage due to a vehicle, and we wondered, is that your typical outage or is this the typical cost of that kind of an outage?


MR. KERR:  Yes, the latter is correct.


MR. FAYE:  Latter?  Okay.  So you would have other reasons why an overhead system would go out of service; right?


MR. KERR:  Yes, absolutely.


MR. FAYE:  Those other reasons could be just a tree contact, you know, a branch falls and pulls down a conductor, that kind of thing.


What I am wondering is:  The $5,625, that is sort of an extreme case, is it?  Is there anything worse that could happen than a pole being knocked over by a car?


MR. KERR:  I think in our overhead business case we have examples where entire strings of poles may collapse due to weather-related events.


So in terms of a single pole being knocked over by a car, I would not say that is one of the more extreme types of events we see with respect to pole failures in the system.


MR. FAYE:  All right.  In terms of a rough percentage of the time that this kind of thing happens, would you have a whole lot of these ones and very few of tree contacts, anchors pulling out, that kind of thing, or do you have a whole lot of little ones and only a few of the bigger ones?


MR. KERR:  I would say, comparatively, there are far more instances of things like tree contacts versus the vehicle collisions taking a pole out.


MR. FAYE:  All right.  That was the point of part (g) of that question, and that is all for that question.


So the next question is our question No. 4.  The reference is tab 6F, schedule 7-28.


MR. KERR:  I'm sorry, will you repeat the reference?


MR. FAYE:  I am just checking it, because what I have is tab 6F, schedule 7-28.  It is Energy Probe IR 28.


I wonder if this might have been answered in your blue page update.  The question is - it is quite simple - figure 1 shown on page 2 of the IRR shows outages per metre on the vertical axis of the chart.


We're wondering, what period of time does the frequency number refer to?  Is it number of outages per metre per year, or something different?


MR. KERR:  I believe for this one we aggregated the outage data from 2009 to 2011, and so this graph is showing an aggregation of that outage data across those years.


MR. FAYE:  So, sorry, 2009?


MR. KERR:  Yes.  I believe it was 2009 to 2011.


MR. FAYE:  Great.


Our next question is Energy Probe TCQ 5, and the reference is tab 6F, schedule 7-33.


This concerns the relative risk of a contact with overhead circuits, and a comparison between rear lot and overhead.  There's a statement in the evidence that the risk of contacts on rear lot are higher than the risk of contact on front lot.


But when we looked at the outage information or the contact information on the overleaf, page 2, there didn't appear to be a tracking of outages by front lot or rear lot.


So we wondered, what do you base this statement on?


MR. KERR:  So what we're referring to in this IR is that the proximity of the rear lot construction to people in their backyard are inherently much closer to the primary than they would be for front lot rebuild.


As we also noted in the evidence, we have pictures showing, you know, trampolines in the backyard, pools, new sheds that had been built.  Maybe the shed's right beside the pole with the primary attached.


So what we're talking about is how in the rear lot, though the data doesn't -- we don't have data to show the contacts in the rear lot, we're just saying, you know, pragmatically it's closer to people in their daily activities.


MR. FAYE:  Okay.  Thanks.


When you look at the chart on page 2 of the response to that IR, it almost looks like a great improvement over the last few years in outages caused by access to the distribution system, particularly on the overhead system.  And this would be in comparison to previous years, which went as high as 65 interruptions per year.


So now they're down to between 36 and down to 22 year-to-date.


Do you have an explanation, any analysis of why there's an improvement in the number of outages due to contacts?


MR. KERR:  We don't have an analysis to explain the root cause of the apparent change.


MR. FAYE:  Any anecdotal evidence?


MR. KERR:  Yes, I can speak just from a higher-level explanation.


When we -- you know, one example that comes to mind right away is if we're doing, you know, less capital work in the system, it can lead to a reduced number of, you know, dig-ins or things that happen due to what we call human element.  That's the first example that springs to mind.


MR. FAYE:  Okay.  That was mostly a curiosity question.


Our next question is No. 6.  Reference is tab 6F, schedules 7-33 and 7-34.


This one shows that the number of kilometres of overhead that you have in your system, 15,100 kilometres, and about 10,900 kilometres underground wires.


So just dividing one by the other, it looks like there is 50 percent more overhead in the system than underground.  Have I done that reasonably right?


MR. KERR:  Yes.  In terms of circuit length, yes.


MR. FAYE:  So then schedule 7-24 -- or 7-34 shows the outage durations for the overhead and the underground systems for the years 2006 to 2011.  And if you sum them up so that you have a total for those years, the total duration minutes are almost the same, 720,000 for overhead and 701,000 for underground.  And this despite the fact that there is 50 percent more overhead.


So we would look at that and conclude:  Well, at least in terms of duration of outages, the overhead system appears to be much more reliable than the underground system.


Is that a fair conclusion to draw?  Or would you like to comment on that?


MR. KERR:  Yeah.  I don't think that is a fair conclusion to draw from that evidence.


When we're speaking about the length of overhead in the system, we're talking about the numbers we're referring to, the length of circuit kilometres, but what we weren't speaking to is the number of customers fed by those circuit kilometres.


So from our point of view, if you have one system serving the same number of people and another system which is 50 percent larger serving the same number of people, essentially the density of customers on the feeder is higher on the system which serves more people with less.


So when we look at the SAIDI and SAIFI and CAIDI numbers, those are actually coming from how many customers were interrupted, not just by how many circuit kilometres lost power.


So from that point of view, the system that is serving more people with fewer circuit kilometres would have higher SAIDI, SAIFI, CAIDI impacts.


MR. FAYE:  And is that the case?  Does your underground system feed more people than your overhead system?


MR. KERR:  I think for -- I don't have the number of exactly how many customers in the system are fed via underground versus overhead.


So I just wanted to make the comment that with respect to this example, we were talking about the circuit kilometres, and not, in fact, the number of customers fed by each system.


MR. FAYE:  While we're on that subject, then, just to clarify, if you have an overhead circuit that eventually dips underground to serve a subdivision, when you have an outage on the overhead portion of the circuit, is that attributed to -- do the customer minutes resulting from that outage get attributed to the underground or the overhead?


MR. KERR:  The customer minutes of the outage would be attributed to the part of the system that actually had the fault.  So if, you know, an example of a tree falling on the overhead line, all of the outage data would be attributed to the overhead cause code of tree contact.


MR. FAYE:  Would it be a big deal to do a quick estimate of how many customers are served via overhead and how many are served by underground?


MR. KERR:  I recall that there was an IR asking, I believe, for a very similar question.  And it's -- I think it would be a very large undertaking.  It would be a little bit difficult for us to see exactly, if you want to know for every outage that happened --


MR. FAYE:  Oh, no, I just want a feeling for, overall in your system, how many people are fed from overhead secondaries and how many people are fed from underground secondaries, assuming the underground now don't do it that way, because there would be underground secondaries and overhead primary.


Just if the primary is overhead, how many people get fed from that?  And if the primary is underground, how many people get fed from that on a percentage basis?  I don't need actual numbers.  It is 50/50, 60/40, whatever.


MR. KERR:  Sorry, just to clarify, we are not talking about the secondaries, just the primary here?


MR. FAYE:  Yes.  The secondaries are just going to confuse the issue, so let's just stick to the primary side.


MR. KERR:  I think we could get a rough approximation for you.


MR. MILLAR:  JT1.5 -- pardon me, 1.4.

UNDERTAKING NO. JT1.4:  TO PROVIDE PERCENTAGE BREAKdown OF PEOPLE FED BY primary, overhead versus underground 

MR. FAYE:  The next question, No. 7, we don't mean this to sound argumentative.  I am not trying to be argumentative about this, but I would be interested in a little elaboration on the answer that you gave us.  This is to do with the Navigant survey, and it's noted in that survey that not very many other utilities are relocating rear lot overhead, but Toronto Hydro is.  Your policy is to relocate it to front lot underground.


And we wondered if you have any elaboration on the reasons why you do that, but others don't seem to feel the need to do it.


MR. KERR:  If I may clarify, the policy of moving the rear lot overhead to front lot underground is a policy that speaks to in what manner do we move the rear lot overhead, but the policy does not itself dictate that we need to move all rear lot overhead.


The justification for needing to remove the rear lot overhead, those justifications are what we have outlined in the business case due to the asset conditions, the age, the safety risks to both the public and our workers when we have to go out there to respond to outages, which happen often and can lead to very lengthy power outages for the customers.  So I just wanted to make that clarification about where the policy comes into play.


MR. FAYE:  So if I understand that, when the plant gets to the end of useful life, then that policy kicks in to say, Well, we won't rebuild it in place; we will put it out in the front yard?


MR. KERR:  Right.


MR. FAYE:  But you don't have a wholesale program just to abandon all rear lot stuff, whether it is at end of useful life or not.  Have I got that right?


MR. KERR:  Yes.  There is no -- you know, the wholesale program you referred to would be our assessment of each of the rear lot areas in the system to determine, on a needs basis, like I mentioned earlier, based on asset condition, ages.


We would then determine for each rear lot area what is the need to relocate it, and then make an appropriate decision as to when that should happen.


MR. FAYE:  Do you ever rebuild them in like?  Like, do you ever rebuild rear lot overhead as rear lot overhead?


MR. KERR:  No.


MR. FAYE:  It always gets -- when it is due to be replaced, it always come out to the front yard; right?


MR. KERR:  Yes.  As we outlined in the business case, it is just completely infeasible to rebuild the rear lot like for like.


MR. FAYE:  Okay.  Then the original question was:  If other utilities aren't doing this, it's curious that Toronto Hydro feels compelled to do it, and I wondered if you could comment on what is different about Toronto Hydro's situation than, say, another urban utility that doesn't do this.


MR. KERR:  Sure.  I think that the best way to start my comment would be we are the stewards of the assets for Toronto Hydro, so I don't know all of the details about, you know, what are the ages and conditions of assets for those other utilities.


We do know what the ages and conditions and things of that nature are for our assets.  So when we're talking about the rear lot conversion projects, we're just looking specifically at our system needs, both in terms of the reliability, safety to the workers, safety to the public.


So I can't really comment on what other utilities are doing.


MR. FAYE:  All right.  The next question is our TCQ No. 8.  It is tab 6F, schedule 7-36 as the reference.  And this one has to do with municipal consent requirements for putting up overhead lines on a public road allowance.


We thought it would be useful for our understanding of it if you could give us an example of an overhead line that you needed to apply to the city for permission to put up poles and overhead conductors, if we had an example with the documentation that you've got to submit to the city to give us an understanding of that process, how it works.


Can you undertake to do that?


MR. KERR:  Yes.  I was going to say we are working on that one right now in the background, but I don't have that with me today.  So...


MR. FAYE:  Okay.


MR. MILLAR:  JT1.5.

UNDERTAKING NO. JT1.5:  TO PROVIDE EXAMPLE OF MUNICIPAL CONSENTS DOCUMENTATION; REFERENCE ENERGY PROBE TCQ NO. 8, TAB 6F, SCHEDULE 7-36

MR. FAYE:  The next one, TCQ 9, the reference is tab 6F, schedule 7-39.  This one shows comparative costs of replacing existing rear lot overhead with front lot overhead.  That cost is shown as $57.1 million, and the comparable cost for replacing rear lot overhead with front lot underground is $66.14 million.


We found that a little surprising.  We always thought that replacing anything with underground was a couple of times different in price, so two to three times, we've heard as much as at times more, to do underground as to do overhead.


So we were interested in seeing the breakdown of these costs, since there is not really a significant difference between overhead and underground.  It would imply that they cost about the same.


Am I misreading this or is that an accurate understanding?


MR. KERR:  I'm sorry, the numbers that you referred to for the costs on tab 6F, schedule 7-39...


MR. FAYE:  Have I got it wrong?


MR. KERR:  I am just looking at the interrogatory response here.  So you are referring to the section at the bottom, the upfront project costs?


MR. FAYE:  That's right.  I have yet to find it on the IR myself.  It's possible that we have an error in the reference here.  Wait a minute.


MR. KERR:  Just for clarification, it was you just want to understand the difference between the 57.1 million for option 3 and 66.14 for option 4?


MR. FAYE:  Right.


MR. KERR:  So I can speak to that one.  There is one specific aspect of, when you rebuild rear lot overhead to front lot overhead versus front lot underground, the overhead option does incur one specific cost that the underground does not, and that is the relocation of the meter base for the customers, the reason being that if we were to rebuild rear lot overhead to front lot overhead where the existing meter base is, it's typically near the rear of the home, because it was being fed from the rear lot.


So in order to supply that customer from front lot overhead, with an overhead secondary, it would exceed our spanned length.  We wouldn't have the clearances on the secondary lines to run it from the front of the home out by the street all the way to near the rear of the home.


Whereas with the front lot underground option, we can actually install an underground secondary right up to where the existing meter base is.  So that's -- you know, that is one specific cost that is significant which comes into play.


MR. FAYE:  How much is that cost for a new meter base?


MR. KERR:  On a meter base, I don't have that off the top of my head.


MR. FAYE:  About a hundred bucks?  Could you just check to see, because my understanding is a meter base is a couple hundred bucks, which, you know, that is a lot of money to put a little piece of hardware on the wall, but it is nothing compared to 57.1 million?  So it can't be a significant part of the $57 million, is it?


MR. KERR:  Sorry, you're just asking about the relocation of the meter base on a per-home basis?


MR. FAYE:  Well, you said that one element of doing it overhead versus underground is that you have to put a new meter base on towards the front corner of the house so that your secondary span doesn't exceed limits.


MR. KERR:  Right.


MR. FAYE:  And that seems to be -- is that a really significant cost?


MR. KERR:  That actually is a very significant on a per-home basis.  I believe it is in the order of --approaches thousands of dollars per home to do that.


MR. FAYE:  Okay.  I am trying to picture -- this is a meter base and a piece of conduit attached to the wall to run your No. 3 or whatever you are using for houseware and you have to get back to the panel inside.  Would that cost that much?


Okay.  I will take your word for it.


What we were asking there for, though, was a breakdown in both of those costs, and I appreciate the estimate on the meter base and -- but is it possible to get a breakdown of the 57.1 million and the 66.14 million into reasonable components, labour, equipment, material, that kind of thing?


MR. KERR:  I think we can do that.


MR. MILLAR:  JT1.6.
UNDERTAKING NO. JT1.6:  to PROVIDE BREAKDOWN OF THE 57.1 MILLION AND THE 66.14 MILLION, AND UNDERLYING ASSUMPTIONS.

MR. FAYE:  Would you include in there any major assumptions, like how many poles per, you know, average span, that sort of thing, so we have a feeling for, average subdivision, how many poles you're going to have to stick in there?


MR. KERR:  Sorry, assumptions like standard span lengths?


MR. FAYE:  Yes.


MR. KERR:  Okay.  Yes.


MR. FAYE:  Thanks.


The next one is our TCQ 10, and it refers to tab 6F, schedule 7-43.


This IR was asking about the non-asset-related risk and the asset-related risk that goes into your feeder investment model.  And it's noted in the description of this that the non-asset-related risk, as I understand it, is all things to do with outages that don't stem from the asset itself.


So cable failure, that is an asset-related risk.  A tree falling on an overhead conductor, that is a non-asset-related risk.  Is that -- do I understand that right?


MR. KERR:  Yes.  Yes.


MR. FAYE:  Okay.  So when you put together your non-asset-related risk, it's measured on a feeder basis, and then divided down into a per-metre basis, so that you can calculate it for just the part of the subdivision that you're going to be doing, not the whole feeder length, right?  That is how I understood that footnote to read.


MR. KERR:  Right.


MR. FAYE:  So then when you get down to the underground, the new direct -- not direct buried, but duct and manhole system for your new XLPE cable, in some of the charts, the non-asset-related risk is zero.


And it occurred to us that many of these situations are ultimately fed from an overhead system, that it is not underground right from the municipal station right to the subdivision.  Is it?  In your cases?


MR. KERR:  In some cases it is, and in some cases it is not.


MR. FAYE:  All right.  So let's take the case where it is not, that there is an overhead feeder and it eventually gets to the subdivision, dips underground, and that's the system that you are going to replace, that direct buried system.


So it seemed to us that the non-asset risk was noted as zero -- or non-asset risk cost was noted as zero, for an underground system in duct, reinforced concrete duct.


What we were trying to get at was, well, if it is fed from an overhead system, how can the non-asset risk be zero?  There would still be outages in the overhead system that would affect the underground.


Am I right in thinking that is also a non-asset risk for that underground thing?


MR. KERR:  You're logic is correct, but if I may point out that the non-asset risk, the reason why it is zero is because we're saying for the area that gets rebuilt to the underground duct and manhole system, the non-asset risks associated with that portion of the distribution system are zero.


So any non-asset risks -- you are correct in that if there is an outage on the overhead line, which, as we, you know, we stated in part (b) of 6F, 7-43, we said feeder which typically run -- sorry feeders which typically run overhead along main roads supply both overhead and underground subdivisions.


So you're correct in that an outage on the overhead line may still impact the customers fed by the underground area.


However, the non-asset risks of that overhead would be attributed to the overhead portion of the system, whereas the -- like we said, the non-asset risks of the underground portion itself would be zero.


So overall, the feeder itself may still have very high non-asset risk because of the overhead portions.


MR. FAYE:  Okay.  I see the logic.


So the end result for the customer, though, would be they still see some outages?  The risk of an outage is not zero to the customer just because it is underground in concrete encased duct.


MR. KERR:  What we're saying is the risk of an outage due to, you know, their lateral feed for that subdivision would be zero, but -- you're correct -- unfortunately the overhead portion of the feeder is still susceptible to those other interferences.


MR. FAYE:  Okay.  I understand now, thanks.


The next one was Energy Probe TCQ No. 11.  This refers to tab 6F, schedule 7-52.


We asked you for your standard design practices.  This standard design practice is for rear lot conversions, and on page 5 it notes that you have joint-use partners on some or all of rear lot poles.


And that would be Bell or cable TV; am I right?


MR. KERR:  Yes.


MR. FAYE:  And some of those poles are owned by those folks, aren't they?


MR. KERR:  That's correct, yes.


MR. FAYE:  Do you have an approximate split of how many -- what percentage of poles in your system are owned by Bell and which percentage by you?


[Witness panel confers]


MR. KERR:  You mentioned how many poles in our system, so we have the number of poles that Toronto Hydro owns, but we don't have numbers on how many poles within the city of Toronto limits belong to other utilities.


MR. FAYE:  But you would know how many you are joint-use on, right?  You pay them a certain amount per year for joint-use fees, right?


MR. KERR:  Yes, I would say that's correct.


MR. FAYE:  Could you get a count of the number of poles that you pay Bell a joint-use fee for?


MR. KERR:  Yes, we can get that.


MR. MILLAR:  JT1.7.
UNDERTAKING NO. JT1.7:  TO PROVIDE the NUMBER OF POLES WHERE THESL PAYS BELL A JOINT-USE FEE.

MR. FAYE:  So then for those backyard overhead lines that are actually Bell-owned poles, if a pole breaks, who has to replace it?  Is it Bell?  Or do you guys replace it and charge them for it?


MR. KERR:  Sorry, just for clarification, are we talking a rear lot pole where we no longer have any assets on that pole?


MR. FAYE:  No, no.  Current situation where you do have assets on the pole, something happens, the pole breaks, your trouble crew goes out to respond to it.


Do they replace the pole, or do they call Bell up and say:  Come on out here and fix this pole for us?


[Witness panel confers]


MR. CASS:  Peter, just while they're consulting, could you help us as to where this is going in relation to the issues in the case?


MR. FAYE:  Yes.  The point of this questioning is that -- well, there are a couple of points.  One is that Bell, according to the evidence, isn't always going to go in your duct and manhole structure on the front lot.  So those rear lot poles are still going to be there.


Another point is that if one of the arguments made by the company is it's too dangerous for your linemen to go back there and replace poles - it is heavy work, they have to carry the pole in, they have to dig by hand - but if it is not their pole in the first place and they never have to replace it, then that eliminates that argument, I think, at least for the Bell-owned poles.  The argument can still be made for Toronto Hydro poles.


So what we're trying to get at there is an understanding of:  How significant is this argument that there's a lot of hazards involved for Toronto Hydro staff with rear lot construction?


MR. CASS:  Thank you.


MR. FAYE:  So back to the question, does Bell replace the pole or do Toronto Hydro replace the pole?


MR. KERR:  So in circumstances where - you know, we will make it easy - the lights go out due to the pole failure, because our assets are still on the pole, the process is that Toronto Hydro would then inform the owner of the pole that, you know, the pole has failed and needs to be replaced.


Then a determination would be made of, you know, who is most able to do that in a suitable time frame.


So, you know, it is logical to assume that, you know, if Toronto Hydro is set up to respond to that outage and replace the pole very quickly, then, you know, a financial arrangement would be made with the pole owner to cover the cost of the installation.


MR. FAYE:  Do you ever just sort of splice the pole back together again with a couple of timbers and bolt it into place, and then call Bell the next day?  Does that still happen?


MR. KERR:  No.


MR. FAYE:  All right.  There is the note that the joint use partners don't necessarily have to go in your new trench, and we're wondering have you had any experience with that yet?  Are they generally going into the trench?  Are they generally staying in the backyard?


MR. KERR:  We have many examples with the rear lot conversions, in particular, where the utilities do go joint use with us, with the front lot underground option.


MR. FAYE:  Would it be half and half, more one than the other or...


MR. KERR:  I would say more often than not, they go with us.


MR. FAYE:  Okay.  Also in that standard design practice is something called a hybrid overhead design option.  And this is, as I understood it, where you get a lot of resistance from customers to do what you want to do, that your designers in some circumstances have the option of doing this hybrid overhead design.  Have you used that option at all?


[Witness panel confers]


MR. KERR:  I'm sorry, if I may, just for clarification?  The hybrid example you're referring to, is that with the overhead primary and the underground secondaries?


MR. FAYE:  I think that's how it would sort out.  It wasn't immediately clear from the schematic.  It could have been an overhead secondary, too, but it appeared to occur where there was already an overhead pole line on the other side of the street, and the side in question that had rear lot, there was some opposition to it.


So the designer was authorized to put a pole-mounted transformer on the other side of the street, and then either trench or span across and feed the customer that way.


So it's a good alternative, but I just wondered do you ever get to use it?


MR. KERR:  Based on personal experience, I can say I've never actually seen an example of our projects where that's been employed, but that is not to say -- obviously if it's in the SDP, there was a request from a designer that there may have been a unique circumstance where that solution was needed, but I haven't seen that employed on a widespread basis.


MR. FAYE:  I'm not sure it is significant, then, so I am not going to ask you for an undertaking to tell me a project where it occurred.  If it hardly ever happens, it's not significant.


That is all of our questions.  The rest of ours refer to other panels.  Thank you.


MR. MILLAR:  Thank you, Mr. Faye.  Mr. Harper has volunteered to go next unless somebody else has an urgent need to do so.


Why don't we get started, Bill, and, I don't know, 15 minutes or so, until you find a convenient spot for a break, and then we will take a morning break?

Questions by Mr. Harper:


MR. HARPER:  Okay, that should be fine.  I think based on the allocation of questions to panels, the first question I would have for this panel would be VECC Technical Conference No. 12, and that's looking specifically at tab 6F, schedule 1-28, which was your response to Staff interrogatory 28.


And, really -- I will give you a moment there.  The question was looking at the table, which I think is table 1 of that response, which gave a listing of the avoided risk costs results by job.  And there is a considerable number of jobs listed there, and there is the various number of columns that result in the far right with a determination of the three-year avoided risk cost for each job.


I guess my first question was just it would be helpful to me to understand both this table and, more generally, the sort of approach you're taking if there was some sort of -- if you could provide some sort of legend that explained how each of the columns relate to each other, like maybe what columns were used, or subtracted or added to get the next column to the right as we move across the schedule.


MR. KERR:  If I may, I can, I think, walk you through the table.


MR. HARPER:  Okay.


MR. KERR:  But for detailed questions on these sorts of numbers -- where we're talking about the feeder investment model, so any detailed questions, if you can refer those to the panel 1A, they would be best to answer those.


MR. HARPER:  But you can tell me when it gets too thick and we will leave it over.


MR. KERR:  Sure.  So would you like me to just -- if I start with 6F, 1-28, page 4, and I will just start at the left-most column and work my way to the right side of the page.


MR. HARPER:  If you could, that would be great.  Some of them are just references, but as we get along, if you could, that would be really useful from my perspective.


MR. KERR:  I won't explain job and feeder name.  We will go into job costs.  So this is the present day actual cost of executing the job itself.


If we move to the next column, it has "PV", and then in brackets "2015 cost of deviating from optimal intervention time". So essentially that would be the cost of not intervening at the optimal time.


The next column over is the 2012 -- 2012 cost of deviating from optimal intervention time.  So that's the -- the previous column is the PV, present value, whereas the 2012 is just the raw cost itself.


MR. HARPER:  Just to stop you there, if the optimal time was actually 2012, that column would have a zero in it?  Is that a fair observation, or maybe I should ask that to the next panel?


[Witness panel confers]


MR. CASS:  I'm sorry, perhaps I referred you to the wrong panel.  It may be quicker to take these questions to panel 1A, unless --


MR. HARPER:  I am in your hands as to who is the best one to answer this.  I am just looking for the answer, thanks.


MR. CASS:  I think I may have referred you to the wrong panel.  My apologies.


MR. KERR:  If it is okay with you, I think panel 1A would be the best one.


MR. HARPER:  No.  I would rather have it this way than the other way around.  Being referred forward is always fine.


I guess now, the same with part (b) of that question, as in maybe I will just -- as we look down the list on the far right-hand side, there were jobs that had a positive value and jobs that had a negative value, and negative value would suggest that doing it in 2012 is not the optimal thing.


I was just curious as to why jobs where there was a negative value were being proposed as part of the 2012 to 2014 program.


MR. KERR:  Sorry, just for clarification, are you referring to the far right-hand column, the three-year avoided risk cost?


MR. HARPER:  Right.  I assumed if my understanding of the process is that's the one that -- that's the final answer that tells you whether, you know -- if that's positive then it is good to do it now; if that's negative perhaps it is not as good to do it now.  And there is a benefit to pausing and doing it later, at least in terms of what this analysis is testing for.


I noticed there were, like, job 3, job 6.  There were a few that tended to have negative values.  Now, overall, when I take them all together, there's a positive value for all of the jobs, but for individual jobs, for a number of them there's negative values, and I was just wondering why they were included in the portfolio of jobs that you are putting forward to 2012 to 2014 in the original application.


MR. KERR:  So the model that we used to perform these calculations, it is a calculation based on things that we can quantify, a maintenance cost savings, a probability of a failure, what it does -- if I can phrase it this way, there are, you could say, intangible benefits to doing jobs.  And those intangibles, we can't actually quantify to put in the model.


I think it was even referred to on the Navigant report, that, you know, to try and quantify the exact benefit to safety of doing a job earlier rather than later, I would say it is virtually impossible to do that accurately.


So for some of these jobs where the three-year avoided risk cost is negative, your logic is correct, in that the 

-- where the avoided risk cost is highest, it would look like those are the best jobs to do.


But what we're saying here is that based on what can be quantified and is in the model, that's the number that's produced.  And despite the negative three-year avoided risk cost, there are other intangible benefits to be had by executing that job in that year.


MR. HARPER:  You mentioned safety.  Are there -- maybe you can just help me out -- are there any other intangibles besides this -- and I assume safety, this, I assume, is from a employee perspective and from a public perspective?


MR. KERR:  Safety, you know, intangibles like to go do work in an area in year 1 and then come back and disrupt the customers again in year 3 for, you know, same, maybe same city block but a different subdivision.  So you're still in the area, causing traffic disruptions, sidewalks, you know, disrupting the daily routines of customers.


So that would be another example where we're taking into account if there's a second phase of a project that we can do at the same time as the first phase to avoid things like that.


Things that we do quantify in the model are, like, the efficiencies gained by going to an area once, you know, delivering materials once, things of that nature.


MR. HARPER:  So I can see -- I guess each of these jobs is basically the same type of work, I think, in each of these jobs, if I am not mistaken?


MR. KERR:  Right.  I believe these all come from our 

-- what we call the underground portfolio.


MR. HARPER:  Right.  So that to some extent, the intangibles would be similar across all of the jobs, but that might be, like you say, from a safety perspective it may be the same across all the jobs, but the intangibles, is it fair to observe that they may vary across other jobs in terms of coordination of work?  Is that a...


I am trying to understand if the jobs are all the same type of work, to what extent would it be reasonable to expect that -- the intangibles to vary across the jobs individually.


MR. KERR:  I think that is difficult to answer as an overall portfolio.


If there is a specific example of a specific job that you would like to speak about, really, what we would have to do is go into each and every job and identify:  Okay, what are the intangibles there?


MR. HARPER:  Given the pages of listing we have here, that is something I do not propose to do.  I take your point.


The other thing I was interested in was, you know, this interrogatory response was answered with respect to the original plan, and clearly there was an update where some of the jobs -- I think a number of these jobs -- were perhaps -- and I was wondering, and maybe this is something you can tell me, are any of the jobs that have negative values ones that are now slated for the shorter period, which would be 2012-2014?


And if the answer is, you know, this is something that you would like to take a pause and get back to me on, that's fine too.


MR. KERR:  I believe some are.  If you were to give me a moment, I know -- I believe there was an update to an IR or the evidence, where we struck through which jobs had originally been proposed for 2014 and we then struck those out.


But the vast majority of the jobs on this listing are still in the '12-'13 time frame.


MR. HARPER:  I apologize if I missed the update to the interrogatory, but maybe -- if you are sure there is one -- I can find the update and that will answer my question for me, then.


MR. KERR:  Okay.


MR. HARPER:  So that should be fine.


I think except for 6A, which I think we're going to take to an -- no, no, I think we are finished with this one entirely.


So my next question was VECC Technical Conference Question No. 13, which was referring to tab 4, schedule B2, updated.  There, I think at page -- actually, there is a table 4, which is on page 28 of the update.


That table 4, this is dealing with the PILC piece-outs and leaker segment, and that table basically is showing the various options you considered in the total present value for the project for the entire project, overall, under each of those four options.


My understanding is that in the update you have now got for 2012-2013, there are 10 specific jobs that you've got planned to do in those two years.


MR. PARADIS:  Yes, that's correct.


MR. HARPER:  I guess I was wondering whether it is possible to provide a similar breakdown to this table 4 for each of those 10 jobs, to get a sense of how each of them look, as opposed to just looking at the aggregate result of adding all 10 up.


MR. PARADIS:  It is certainly something we can do, although I can't produce it right now.


MR. HARPER:  No, that's fine.  I figured this table was a sum of 10 sub-tables, and I was just looking for each of the 10 sub-tables, if that was possible.


MR. PARADIS:  It might be worthwhile to point out that, given the nature of the project, the expectation is that the results will be similar, although on a different scale, but we can certainly produce that.


MR. HARPER:  Okay.  Well, you know, that's obviously really what I was looking for to give a sense of -- the previous question we talked about there were positives and negatives.  I was just trying to get a sense of whether that also existed for this particular PILC-related approach, as well.  So if you could do that for me, that would be useful, if we could have an undertaking on that.


MR. MILLAR:  JT1.8. 

UNDERTAKING NO. JT1.8:  to PROVIDE BREAKDOWN FOR ALL 10 JOBS IN TABLE 4.

MR. HARPER:  My next question was one I forwarded to you on VECC Technical Conference Question No. 14.  This was dealing with schedule B4, which was the overhead infrastructure and equipment.


There were a number of different IR responses and in the schedule itself that sort of was describing this work, and at some place we were talking about -- you were talking about five different equipment categories.  That's on page 17 of the updated schedule.


Then other places, you're listing individual jobs.  That's through 8491 of the updated schedule.


And then in the response to the VECC IR 51, you were talking about asset types.


And I was trying to in my mind understand how these three related to each other.  So if there was some way that we could understand or get some -- just maybe a piece of paper that shows how the five equipment categories align to the different jobs, align to the different asset types, so that when I am looking at one response I understand how it relates to the information in the other parts of the application, that would really be useful.


MR. KERR:  Sure.  Would you like me to explain --


MR. HARPER:  If it is something that is fairly easy to walk through, that would be great.  If it is a little bit complex, it may be easier to do just on a piece of paper.  It is up to yourself, whichever you think.


MR. KERR:  I think I should be able to walk you through it.


If I may, just before I get to that, the previous question you asked with respect to 6F, 1-28, the next IR, which I believe is 6F, 1-29, on that IR is where I was referring to an updated IR where we crossed through the jobs that were originally scheduled --


MR. HARPER:  Great.  Thank you very much.


MR. KERR:  -- for 2014.


Okay.  So with respect to the overhead, I will start at the most granular level, if I may.


We have many different overhead assets within our system.  We have overhead switches, transformers, we have poles, we have conductor, insulators, surge arresters.


So what the overhead business case is doing is identifying which of the assets, the overhead assets in our overhead system, are problematic and meet the ICM criteria for need, and we can demonstrate that in a prudent manner we are able to replace those in the years 2012 and 2013.


Now, the way in which we approach the replacement of those individual assets is we group them by what are called "jobs".


So instead of -- think of it, it is a very large system to deal with.  So how do we prioritize?  In which areas do we go first and start replacing those assets?


The jobs are simply an aggregation based on the indications of safety and reliability.  Also we talked earlier about gaining efficiencies, of doing work in a certain area at once.


So, really, the jobs are grouped based on what's the most effective way to replace those assets.


And then the business case, this segment overall is just listing -- we have the CSP transformers.  We have porcelain switches, wood poles.  So those are some of basically those key overhead assets in the system that we have a problem with.


MR. HARPER:  Those would be the equipment categories, then?


MR. KERR:  Yes, those categories.  So really I said at the very fundamental level we have all of these different assets in the overhead, and there are a select few asset types which need to be addressed immediately, and the most prudent way to address those are by the job groupings proposed.


MR. HARPER:  Maybe I can just ask this one last question, then, and maybe we will take the break.


So if we go to tab 6F, schedule 11-51, which was response to VECC 51, and we look at table 1 there, which is on page 2 of that response?


MR. KERR:  Yes.


MR. HARPER:  There, this is where -- actually, I sort of got that part through the original application when I got to this response and we were talking about asset types.


Now, are these asset types supposed to be synonymous with the equipment categories you were just talking about, or are they something else again?  That's really what I was struggling with.


MR. KERR:  Yes, these are synonymous with the categories within the business case in tab 4.


MR. HARPER:  Right.  So the porcelain switches would fit into one of these categories.  The wood poles would fit into another one of these categories as you go down the list that way, then?


MR. KERR:  That's correct, yes.


MR. HARPER:  I think we have been about 15 minutes in.  Maybe if you want to take the break now, I can pick up when we get back.


MR. MILLAR:  Why don't we do that?  I am conscious of the time.  We have a lot to get through.  Why don't we break to 20 after?  That is just more than 15 minutes, and then we will continue with Mr. Harper.  Thanks.


--- Recess taken at 11:03 a.m.

--- On resuming at 11:20 a.m.

MR. MILLAR:  Okay.  Welcome back.  I think we will get right back to it.  Mr. Harper?


MR. HARPER:  Okay.  We were dealing with, I guess, the project outlined in schedule B4, updated, which was the overhead infrastructure and equipment.


Before we leave this, I don't know whether this is something maybe getting a little bit more detailed into the panel 2, but we didn't have a similar information here in terms of whether any -- just like we talked about before, whether in this particular area any of the individual jobs listed had negative values in terms of the three-year avoided risk cost that was associated with them, and whether that is something you could advise us, whether any of the individual projects in this case had similar phenomena occurring.


MR. KERR:  Okay.  So like we talked about with the underground example, you're wondering if we have that same information for the overhead?


MR. HARPER:  Right.


MR. KERR:  I don't think we produced that table in the evidence or an IR.


MR. HARPER:  No.  That is actually why I was asking.


MR. KERR:  Sure.  If I could maybe speak to why I don't think it would really be of much benefit, the risk cost, as we know with the overhead system being susceptible to -- we talked earlier of tree contacts and vehicle contacts, so those sorts of risk costs come into play a lot with the overhead system.


So I would anticipate that even if we did produce a table similar to the underground, that for every overhead project the avoided risk cost would be very high.


MR. HARPER:  So what -- you're postulating that it would probably be positive all the -- the result would probably be positive all the way through?


MR. KERR:  Right.  Right.


MR. HARPER:  Are there intangibles associated with this particular –- you know, we talked about the earlier, other one, about intangibles that might justify a negative value being -- you know, one with a negative value being worthwhile pursuing.


Are there similar intangibles associated with this particular project as -- maybe not exactly the same, but are there intangibles, excuse me, associated with this particular initiative, as well?


MR. KERR:  Yes.


MR. HARPER:  Maybe you could briefly articulate what those are in this particular case.


MR. KERR:  I think a lot of the intangibles for the overhead, you know, similar to -- we talked about the safety aspects for the underground.  I would say that's the same idea that will apply with respect to the safety for the overhead.


I think a lot of the those intangibles -- maybe I should call them tangibles, because in the overhead it is a little bit easier to quantify, you know, if you're going out to install one pole, knowing that a crew could take five poles and install them at the same time, within our model we can see that perhaps we're sacrificing a year or two of life on the other four poles, but it is very easy to quantify that the effort required to load up a truck with the materials and drive out to the site, the benefits of replacing those other four poles, as opposed to just the one, far outweighs the -- you could say -- the risk cost that we sacrifice by replacing those four other poles, you know, a year before their end-of-life.


MR. HARPER:  No, that should be sufficient, then.


Actually, just to wrap this one up, if you could turn to your response to VECC 51, that is tab 6F, schedule 11-51 --


MR. KERR:  Yes.


MR. HARPER:  -- part (a)?


Maybe this one will go to the modelling people, you can tell me, but I was curious because when we talked earlier about the underground and you had been going through that risk analysis, you had shown a concurrent intervention benefit for every single job in that table in response to Staff 28.


If you look at the first paragraph of this particular response here, the last sentence is suggesting that you can't do a similar thing, you can only calculate the concurrent intervention benefit on an overall project basis for all of the jobs.


I guess I was just curious as to why that was the case here, when you could go through on that first one we talked about and identify for each individual job.


MR. KERR:  I'm sorry, I am just trying to find the reference.


MR. HARPER:  If you look at 51, response to part (a).


MR. KERR:  Yes.


MR. HARPER:  The last part of the last sentence reads:

"But the concurrent intervention benefit can only be calculated on a project level."


I assume that means it can't be calculated on an individual job level.  You can only do it for the overall project, taking all of the jobs and combining them together into one.


I think that is consistent with the table on the next page, where you only show one value for that.  I was just, again, curious as to why it was the case that it could only be calculated on an aggregate level here.  When we talked earlier in Staff 28, you showed an individual calculation for each of those individual jobs.


MR. KERR:  I think a question of that nature is talking about the -- really the internal workings of the model.  So I think that would be best addressed by the panel 1A, with respect to the model.


MR. HARPER:  Sure.  No, that's fine.


My next question was VECC Technical Conference Question No. 15.  I think we'll have a similar theme and we may get similar answers, so we may roll through this fairly quickly.


Technical Conference Question No. 15, which was referring to tab 4, schedule B5 on the update, actually, if you look at page 4 of that, it summarizes the -- it shows the business case.  And I think you've got 15 jobs scheduled in the update.  And again, we didn't do your risk analysis, but basically you, I guess -- because this wasn't like for like, but were there any of the individual business cases that you ran through here that had a negative net present value?  Because I think on a business case, you presented it for all of the jobs overall, and I was just curious, again, whether, if you looked at the individual jobs, there were ones that were negative, and if so, maybe go through a system or a conversation as to why it was reasonable to proceed with those in this particular instance, as well.


MR. PARADIS:  I believe for this one, similar to the answer Chris just provided, the exercise was done at the project level or program level for the replacement of the box 4kV infrastructure.  The logic there being that, based on some of the intangible factors that are outlined in the evidence, it is a worthwhile...


The exercise was done at the overall program level, as you mentioned.


MR. HARPER:  So it wasn't done for each of the individual 15 jobs?  You looked at it at a macro level, overall, then?


MR. PARADIS:  Exactly.


MR. HARPER:  Okay.  Again, I'm sorry, a similar question around your B6 update, which is dealing with what Mr. Faye was talking about earlier, about the rear lot conversion projects.  I think you have eight of those scheduled for 2012-2013.  This is VECC Technical Conference Question No. 6-16.


I guess I was just wondering there -- and again, a number of different options there, and whether any of those eight individual projects had a negative net present value compared to either option 1 or option 2.


MR. KERR:  Sorry.  I think I missed the first part.  Can you please repeat the question?


MR. HARPER:  I must admit I have a hard time moving through all of the paper that's here to find a reference.


It's VECC Technical Conference Question No. 16.  If you look at your tab 4, schedule B6, if you go to page -- I think it is page 10, maybe.  Excuse me, I am going to have to scroll down here, as well.


MR. KERR:  Yes.


MR. HARPER:  I think there is a business case shown for the overall initiative, if I can put it that way?


MR. KERR:  Right.  For the segment.


MR. HARPER:  Right.  I think the segment is combined -- is consisting of -- I think you've got eight individual projects now you're proposing to do in 2012-2013; is that correct?


MR. KERR:  Yes.


MR. HARPER:  And I guess this shows that for the overall segment, you know, based on the analysis here, that option 4 is the most favourable one.


Did you just do it at an overall level, or did you do a similar analysis for each of the eight rear lot conversion jobs that you are proposing for 2012 and 2013?


MR. KERR:  So in answer to your question, yes, the analysis was done at the segment level, not on the individual, job-by-job level.


MR. HARPER:  So you just combined all of the jobs together and just ran the analysis through at that overall level?


MR. KERR:  Right.


MR. HARPER:  Okay, fine.


 Do you have any sense of whether the same parameters would come into play in each -- like, I don't have a sense of whether or not generally if it is -- there is enough variation between the projects, that if they're coming out positive overall, that they would all likely come out on a positive basis individually or not, or whether there is a significant, sufficient variation between the individual projects that the results could be unique across projects in terms of negative versus positive values.  If you don't know, that's fine, too.


MR. KERR:  You know, not having run the FIM for each individual job, I can just say that, generally, the reason that we grouped all of these jobs into the same segment is because it is the same type of work being done.


They're the same assets with the same commonality, in that they're all either at or beyond their useful life.


So in terms of, you know, would we expect to see significant variation of the MPV on each job, I would say, no, overall they're all going to be about the same, because they are the same assets, same type of construction.  We're talking about rear lot overhead.


MR. HARPER:  Okay, thanks.


VECC Technical Conference Question No. 17, this is dealing with tab 4, schedule B8.


I think originally you -- the original plan called for replacing some 152 switches over the 2012 to 2014 period?


MS. BYRNE:  Yes, that's correct.


MR. HARPER:  Actually, I was looking in the update for 2012-2013, and I couldn't see any comparable number as to what were the number of switches you were now, in that shorter two-year period, proposing to replace over the two years.


MS. BYRNE:  So the revised number is approximately 26 switches.


MR. HARPER:  So that is 26 switches in total over 2012-2013?


MS. BYRNE:  That's correct.


MR. HARPER:  Okay, fine, thank you.


And, again, if I turn to -- I guess maybe the easiest is if I turn to tab 6F, schedule 11-61, which is your response to VECC No. 61.


MS. BYRNE:  Sixty-one?


MR. HARPER:  This goes through -- and after a little bit of introduction, if you get to about -- starting about page 2 of that response, this again goes through and shows about the -- sort of calculates what is the optimal timing for undertaking each of the jobs.


I noticed that while the optimal timing on a number of them was -- most of them was now, there were several where the optimal timing was eight, ten, eleven years out.


I guess I was just wondering, given that significant difference, what was the rationale or the other extenuating circumstances that would lead to having those specific jobs included in this two or three-year period.


MS. BYRNE:  So the rationale for having those specific switches included is that they are related to key customers or things like we've got it in our response to Energy Probe Interrogatory 46, things like pumping stations and hospitals.


And so we felt that we should prioritize those, as well.


MR. HARPER:  Now, I guess this -- when you do this optimal strategy, one of the pieces of the analysis I think was your cost of -- that includes -- if I am not mistaken, your risk analysis includes cost of outages, does it not?


MS. BYRNE:  That's my understanding.


MR. HARPER:  So I guess what you're saying is, We have a standard cost of outage, but an outage may not cost everybody exactly the same amount, and sort of what you have gone through is identified those types of customers where the -- you can see whether you agree with me.


My understanding is you have gone through it and said that's fine on the analysis, but there are certain types of -- certain specific customers where maybe this isn't the proper portrayal of the types of risks that these type of customers are exposed to, and, therefore, the analysis isn't really telling us the whole thing.  Is that a fair characterization?


MS. BYRNE:  Perhaps.  I will put it this way.  The original engineering decision was that the areas of highest contamination were probably the areas of greatest failure probability.


So the decision started off with finding the switches that were on the major roads or the arterials, and then other considerations came into play, like:  Are these switches installed in an area where we have another project already planned, or is this switch at a key customer location where we may have other reasons to move it up the priority?


MR. HARPER:  Okay, fine.  Thanks.  I think I've got a good sense of sort of what other factors came into play there.  VECC Technical Conference Question No. 18, which I guess is dealing with schedule B10 in the update, again, this is sort of a similar thing, but it's dealing with the fibertop networking in terms of trying to understand why, when I think your response to VECC 65 shows that the optimal timing there is again in many cases after 2015.


What were sort of the additional considerations you took into here to decide that those should be moved up and done with in the shorter period?


MR. PARADIS:  So for this question, it may be worth noting that as a result of the update, only two units are being proposed for replacement prior to optimal intervention time.


And in both of those cases, the units are located in an environment that's what you could even consider harsher than typical locations, and, therefore, were prioritized for replacement accordingly.


MR. HARPER:  And that sort of harsher for location would mean they would be more prone to failure?


MR. PARADIS:  Right.  So we did not provide the picture of those two locations in the evidence, but there's heavy salt contamination, beyond what's considered heavy for normal circumstances.


MR. HARPER:  Sure, yes.


MR. PARADIS:  So it is something above and beyond the typical amount of salt contamination you would expect.


MR. HARPER:  And would the analysis that you undertake, in terms of looking at probabilities of failure, not have taken that heavier contamination into account, or would it in terms of looking at what is the likelihood of a problem arising if we don't do something earlier as opposed to later?


MR. PARADIS:  The overall assessment would account for the environment at a generic level, but we reserve the right to review the preliminary assessment and, you know, reprioritize based on, you know, our engineering judgment.


MR. HARPER:  Okay, fine, thanks.  At least I understand where you're coming from there.


The next one that was I guess scheduled for this panel was VECC Technical Conference Question No. 23.  This was dealing with the feeder automation, which I guess is addressed in schedule B19, updated.


I was just trying to understand.  I think you have five different stations listed here as ones that are now subject for automation of the feeders.


I am just trying to understand.  Are all the feeders -- like, when you go into a station, do you do all the feeders at the same point in time or just some of them, or is it -- I am not an engineer.  So from a technical perspective, if you are going in, do you have to do them all if you're going to do one?  Maybe you just explain that to me a bit.


MR. KERR:  Sure.  It's not the case that we have to automate all the feeders out of the station.


When we approach the feeder automation projects, what is important is to look at the geographical region and understand what are the feeders in this area.


So it may be that, you know, to automate a portion of the system, we're really looking geographically at:  Is that the area where a lot of faults originate?  In which case it is a good idea to automate those feeders, but we have some cases where in that geographical area there could be feeders from three or four different stations.


So, you know, the short answer to your question is, no, we don't have to do the whole station.


MR. HARPER:  In this particular instance for these five stations, are you doing all the feeders in each station, or just in some cases a select number of the feeders?


MR. KERR:  For these feeder automation projects, I don't remember exactly if the feeders that we selected end up encompassing the entire stations, but I -- I don't believe so.  At least not every station is being done.


MR. HARPER:  Okay, no.  I was -- that wasn't critical.  I just thought, while I was following my train of thought, I would see where that was going.


Now, I guess if it isn't technically necessary, I guess you've gone through and you have calculated the benefit cost ratios and shown your benefit cost ratios for each of the individual stations.  Did you just do that calculation at the station level, or did you do it on an individual feeder level when you were going through and calculating it?


MR. KERR:  So for the feeder automation segment, we were actually able to go and do that benefit cost ratio calculation at the job level.  Like, we talked earlier about the rear lot and how we did that at the overall segment level.


For feeder automation, we were able to go do that at the job level.  So it is the feeders being encompassed within the automation, which is not necessarily all of the feeders out of the station, but the feeders being affected by the job.  The calculation was done on that job.


MR. HARPER:  So when you say "a job," a job -- would a job be all of the feeders at one station, though?  Or would a job maybe address only -- you would have three or four jobs addressing the feeders?


And I apologize if that is in the evidence and I didn't catch it.


MR. KERR:  No, no problem.


When I am referring to jobs -- I am turning in tab 4, schedule B19 here, to whatever page I end up opening up.


So, like, we see that job number 2, which -- on page 28 of tab 4B-19 -- this is just the first one I opened to 

-- so job 2 is the feeder automation in 2012 of, it says, Cavanaugh TS and Agincourt TS, but that doesn't necessarily mean that we are automating all of the feeders.


MR. HARPER:  Right.  But what I am asking is:  That is the level at which you did the evaluation?  You didn't go down and do an evaluation looking at individual feeders within a transformer station?


MR. KERR:  That's correct.  The valuation was done at the level of --


MR. HARPER:  At the level of what you've show here?


MR. KERR:   -- the job 2, yes.


MR. HARPER:  Right.  Okay.  I was just curious as to whether it was done at a finer level of granularity, but if this is the level at which you did the valuation, that's fine.


MR. KERR:  That's right.


MR. HARPER:  Thank you very much.


The next one I had was VECC Technical Conference Question No. 27.  This is looking at schedule 6 -- excuse me, tab 6F, schedule 2-12, which is AMPCO Interrogatory No. 12.


MR. KERR:  Yes.


MR. HARPER:  And here, I was just curious, you talked about -- I guess you talked about your asset condition study concluding, and I guess there were a small number of very poor and some -- and some poorer stations here.


I was just curious.  My understanding is you are currently proposing 12 projects in this area for 2012 and 2013?


MR. PARADIS:  That's correct.


MR. HARPER:  And I was curious whether those 12 projects –- no, excuse me.


No.  Actually, I got it wrong.  Maybe there aren't 12 projects, but I noticed here there were 12 vaults that were classified as very poor.  I was wondering whether the projects you were proposing to do for 2012 and 2013 actually captured all 12 of these vaults.


MR. PARADIS:  Yes, sorry.  I pre-empted your next question.


MR. HARPER:  You probably thought I was asking a sensible question, yes.


MR. PARADIS:  Yes.  All the very poor conditions will be addressed through the proposed work, yes.


MR. HARPER:  Okay.  Fine.  That's really all I wanted to capture there.  Okay.


Then if we go to Technical Conference Question No. 29, and I think it was indicated to me that it was part (f) of this question was what this panel would be in a position to -- I am not too sure if I'm going to have to -– because it is a  -- get down to the question.  Let me just -- again, I think part (f) is a -- it is referring to an Energy Probe interrogatory, which is at tab 6F, schedule 7-17.


Just give me a second here.


And I guess if we refer to part (e) of this response 

-- sorry, let me just find it.


MR. KERR:  Sorry, I am just turning to the page here.


MR. HARPER:  I am trying to get there too.  Maybe I have the wrong...


Well, maybe it is part (a).  I apologize.


I guess here you're showing an overall sort of cost of conversion, 2012 versus 2015 overall, and showing that it is beneficial overall to do it in 2012.  And I was just wondering whether there any individual rear lot projects, if you looked at it on a more granular level, where it would be shown to be more beneficial to do it at the 2015 level, as opposed to the 2012 level.


MR. KERR:  In terms of the rear lot segment, the FIM analysis was, again, done at the segment level.  The only job for which the FIM analysis was done at the job level was for this example, to specifically answer this IR.


MR. HARPER:  Okay.  Fine.  That is what I was wondering, because when I saw that it was done for the one, I thought whether that was maybe one of -- you just picked one off the shelf.  But this was done uniquely for this.


MR. KERR:  That's right.


MR. HARPER:  Okay.  Fine.  Thanks.


If we go just over to VECC Technical Conference Question No. 30, this is at tab 6F, schedule 10-16, which is a Schools IR.  It is IR No. 16 for Schools.


And I guess I was just curious.  You filed the original application and then you filed an update with just the projects scheduled for 2012 and 2013.  Here in this IR, you were asked to prioritize the projects, and you prioritized them and, you know, there is about 34 of them and you prioritized them.


When I looked at the list, I noticed some of the projects with fairly high priorities, like projects 6 and 11, 12 and 14, weren't scheduled for 2012 to 2013, whereas projects lower down on the priority list were.


I was just curious what other factors -- if this was a prioritization that led you to sort of pre-empt some of those higher-priority projects for some of the ones lower down on the list, when you did the update.


MR. KERR:  If you like, if I could use a specific example of --


MR. HARPER:  That is probably -- that would give us a sense of why.  That would be useful, yes.


MR. KERR:  It is not one of the ones you listed, but No. 7, which is found on tab 6F, schedule 10-16, page 2 of 3 –-


MR. HARPER:  Right.


MR. KERR:  So you mentioned the number 6, which is underground rehabilitation of feeder ADM 8.  If we look at number 7, which is the underground rehabilitation of ADM 30, that rebuild, in and of itself, is a prime example of where we need to urgently do the work.


However, in that example, external factors are coordination with the city and other utilities to be able to go and do the work that we need to do.


As a result, that job number 7, though it hasn't been deferred entirely outside of the '12 and '13 range, about 50 percent of the cost of that job has been deferred, and we saw that in the updated evidence.  It shows original cost was about eight million; now it is about four million.


So external factors with respect to the underground rebuilds, the main thing is being able to coordinate with the city and other utilities.  In that case, for the job number 7, we're actually waiting for the water main work to be done so that we can then install our duct banks afterwards.


So I am just trying to use an example that best illustrates the external factors.


MR. HARPER:  No, I understand.  So there are other factors besides just the reliability --


MR. KERR:  Absolutely.  It is really just a matter of practicality, of can we even get in there to do the work that we need to do at the time, which we would prefer to do it.  And sometimes the answer is no, there's significant coordination efforts required.


MR. HARPER:  Okay.  Fine.  And the last question I think had been assigned to this panel was VECC Technical Conference Question No. 35.


And I think that is -- if you look at tab 6F, schedule 11-48, which is a VECC interrogatory, here, we're talking about health index scores, and you're talking about -- in this response, you're talking about health index scores and what health index scores give you a -- sort of a very poor asset condition assessment, versus a poor asset condition assessment.


MR. KERR:  Right.


MR. HARPER:  Then later on in the actually updated evidence, I think you had some external parties come in and sort of review your danger and caution poles.


They seem to use a different classification than your health index.  And they sort of went through a process of identifying classification level 4 and level 5 poles, from their perspective.


I was wondering, is there a way of drawing a parallel and saying what health score indexes from your asset condition assessment are compatible with their classification level 4 or level 5 danger poles, so we can draw a parallel between the two?


MR. KERR:  If I may just explain where that other party comes from that classifies the poles as the level 4s and 5s, our pole inspection program is done by a third party.  And the way in which they inspect the poles, if they see something that they consider to be, you know, urgently -- needs to be addressed urgently, they will deem the pole either a level 4 or level 5.


The condition information that they take on the pole in the field that they record is then fed into the asset condition assessment, and the formula of the asset condition assessment will then calculate what is the health index score of the pole.


So if the third-party contractor doing the maintenance identifies a pole as a level 4, that level 4 may not -- you know, level 4 does not always equal health index of, I will just say, number 25.


So a level 4 may have a range.  It could have a health index maybe up to 60 or maybe as low as 30 or 20, depending on the condition of the factors which they inspected.


MR. HARPER:  It is just one of the factors going into the health index?


MR. KERR:  That's right.


MR. HARPER:  A five would tend to drive the health index down, but mightn't necessarily give you the parallel --


MR. KERR:  I think for the five, the range of health indexes on poles that our contractor deems a level 5, that would be a very narrow range, and it is typically always going to be the very poor.


MR. HARPER:  Okay, fine.  I think those are all of my questions for this panel.


Thank you very much.


MR. MILLAR:  Thank you, Mr. Harper.


I think Staff is prepared to go next.  Mr. Mikhail?  


Questions by Mr. Mikhail:


MR. MIKHAIL:  My first questions are related to the B1 segment, and the references have been advanced to Toronto Hydro I think earlier by my -- by our case manager, so you know the IRs that I am referring to.


For this particular one, E. Probe IRR No. 15, which is tab 6F, schedule 7-15 -- and just give me a second here.


Basically, this IR reported on the percent of assets that are past their useful life.  They refer to underground transformer, submersible transformers, that by 2011 22.6 percent would have exceeded the expected useful life, and by 2014 about 27.1 would have exceeded their expected useful life.


So that was the first IR.  The second IR was updated.  This is Board Staff IR 29.  It is tab 6F, schedule 29, updated on November 6.  In that IR, there was the various jobs that were deferred because of 2014 phase 2 sort of classification.


So there is some jobs that were -- or some feeders that were not included anymore for 2012-2013.  So that's our second sort of reference.


Then we have Board Staff IRR 30, tab 6F, schedule 30, and 31, 6F, schedule 31, and VECC IRR 33, which is tab 6F, schedule 11-33.


So basically what we have done, we wanted to sort of see what the contribution of the underground transformers to the unreliability of the feeder to which they're connected to, and we had to refer to all of these IRRs, because no one would give you the full picture.  We had to combine them.


And when we did that, we created some tables based on these IRs, and -- because we didn't get the updates on all of them, so my reference is back to the original evidence.


And when I look at the performance from 2007 to 2011 and track what the contributions are, we found out that there are very few of them that contribute more than 25 percent to the unreliability of the feeder to which they're connected to.


So there are two things.  We would like updates on the IRs that were not updated, so I would like there to be an undertaking for the IRs that I just mentioned.


So the ones that were updated were Board Staff No. 29, but we need updates to Board Staff 30, Board Staff 31 and VECC 33, if I can put that down.


MR. MILLAR:  Is the witness panel clear on the nature of the updates?


MR. KERR:  Perhaps, would I be able to just ask for some clarification for what you are looking for specifically on each of the IRs?  For instance, I am referring right now to the Board Staff IR 30, tab 6F, schedule 1-30.  It was asked to provide the feeder historical performance.


So the data we provided was up til -- it says total number of submersible transformer outages 2006 to 2011.  So I am just wondering, are you just asking for more reliability data or...


MR. MIKHAIL:  No.  It is the same one updated to delete the ones that are not in play for the phase 1, which is '12/13.


MR. KERR:  Oh, okay.


MR. MIKHAIL:  All right?  The basic reason why we want all of that data is the following --


MR. KERR:  Sorry.  Just for clarification, you just want us to strike through the jobs on the Board Staff 30 IR similar to the way we struck through the jobs on the other IR, where a job has been deferred to -- or if a job was proposed for 2014, you just want us to strike through those on IR 30?


MR. MIKHAIL:  That's correct.


MR. KERR:  Okay.


MR. MILLAR:  Why don't we take these one at a time, then, so it is clear?  So update to Staff IR 30 can be J1.9.

UNDERTAKING NO. JT1.9:  TO PROVIDE UPDATE TO Board STAFF IR 30.

MR. MIKHAIL:  Then 31, so that is Board Staff 31, IRR 31.


MR. MILLAR:  It is the same update?


MR. MIKHAIL:  Yes.  And VECC IRR 33.


MR. MILLAR:  JT1.10 and JT1.11.

UNDERTAKING NO. JT1.10:  TO PROVIDE UPDATE TO Board STAFF IRR 31.
UNDERTAKING NO. JT1.11:  TO PROVIDE UPDATE TO VECC IRR 33.

MR. MIKHAIL:  Yes.  Why we're troubling you with updating all of that is the following.  The explanation we got about replacement of the underground transformers is that they are not standard transformers.  We saw the health index for the transformers to be either good or very good.  The demographics on the transformers indicate they are not that old.  


So we're wondering, what is the reason for changing them?  Are the standard transformers offering you more features that will make it more reliable?


MR. KERR:  If I could answer that question in two parts?  Would you mind if first I speak to the reliability of the transformers and how we deem the transformers need to be replaced within a certain job?


Sorry, I am flipping back and forth between many IRs here.


If I may refer to the Board Staff 30, the tab 6F, schedule 1-30?  So if we look at column 3 on this table, which shows total number of submersible transformer outages, and even if we could look at columns -- sorry, that would be column 4.  Columns 5 and 6 also talk about the CI and the CHI, or customer hours interrupted, due to those transformer failures.


One of the things we look at when we're proposing these jobs is:  What is the condition, the likelihood of failure of transformers in the area where we're proposing to replace the cable?


So although the health index may be showing that the transformers -- the population of the asset class as a whole is in good condition, we do find pockets where, if we're going to replace the cable that's at or beyond end-of-life, it's typical that we will find the transformers in that area are also at or beyond end-of-useful-life.


There is a caveat to that, and that's to say that just because we're going into an area to replace cable doesn't mean we're just going to replace all the transformers.


You can see there are some jobs here where historically there have been many transformer failures on the feeder, but we're not actually proposing to replace many transformers as part of the job.  Reason being the job that we're proposing to go do is in an area where we are saying that the submersible transformers in that area do not warrant replacement at this time.


So I just wanted to point out the -- you could see the two different ways that the historical reliability data plays into our decision of whether or not it is prudent to go replace the transformers at this time.


Sorry, if I may speak to the second point you brought up, with respect to, you know, new features on the new standard transformers, I would say there's a very large benefit to our new standard of transformer, in that they are what we call switchable transformers.


So I think that would classify as a new feature, as opposed to the legacy transformers, which are non-switchable.


That has -- if you have what I would call a string or loop of submersible transformers in an area, if all of the transformers in that string or loop are our new standard switchable transformers, that greatly aids in restoration time in the event of a cable failure, isolation of a faulted transformer, and it can even help with the isolation of cable segments to aid in planned work.


Our legacy transformers, or the non-switchable, non-standard transformers, in order to isolate a cable segment between two transformers or a transformer itself, what we actually have to do is use one of the pad-mounted switches upstream and basically open the switch, which would then cut power to the entire string of submersible transformers, which could be anywhere from three transformers to maybe 23 transformers.


So the difference there is when all of the submersible transformers are switchable, you don't have to cut the power to every customer fed by that string or loop of transformers, whereas with the old-style transformer, you do have to interrupt all of those customers.


MR. MIKHAIL:  That's very good.


My manager, David Richmond, wants to add on some questions.


MR. KERR:  Sure.

Questions by Mr. Richmond:


MR. RICHMOND:  Just to clarify what I heard you saying there, so these other units, then, there are no load-break elbows there at them; you said you can't switch at the other ones.  Do they have elbows on them?


MR. KERR:  Yes, they do have elbows, but as you -- you referred to it as a load-break elbow.  The Toronto Hydro practice is that we cannot break load with those elbows.


In order to use those elbows as load break, it would involve very, very detailed historical tracking of exactly how many times has this elbow broken load, because there is a finite lifespan in terms of how many times you can break load with that elbow.


We do not -- we do not use the elbows in that manner, so we treat them as non-load-break.


MR. RICHMOND:  Okay.  Thank you.


MR. MIKHAIL:  So can I sort of characterize that kind of undertaking to switch to standard transformers as enhancement to the system?


It's perhaps good utility practice to do that in the circumstance that you explained, but they are sort of good measures but they don't have to be done.  They're done to improve, and I understand that; is that --


MR. KERR:  Yes --


MR. MIKHAIL:  Is that fair enough?


MR. KERR:  -- I actually agree with that, yes.


MR. MIKHAIL:  Okay.  I guess that concludes that segment.


My next question is about segment B2, and the reference is IRR -- Board Staff IRR 35, tab 6F, schedule 1-35, and 36 -- also Board Staff -- tab 6F, schedule 1-36, and VECC IRR 37, tab 6F, schedule 11-37.  That was updated on October 31st; that's the VECC one.


And basically I just combined the two, just to see the pacing of this particular segment in terms of kilometres replaced, capital spending, and then I also looked at the unit cost of replacing -- or sort of undertaking those jobs over the years.  And I tracked it down from 2008 to '11, and then projected for '12 and '13.


And I see the unit cost per kilometre really varies up and down quite a bit.  It varies from 24,000, for example, per kilometre in 2009, to about 297,000 in 2013, unless my math is wrong.  I suspect it is not.


Can you explain to us why this -- the variations in costs are so much?


MR. PARADIS:  Just because I don't think I have the numbers that you came up with through your evaluation, I can speak to the perceived variability of the costs for some of these projects, and in particular, for 2013 where you -- your calculation seems to show that the cost is greater than in prior years; is that correct?


MR. MIKHAIL:  By quite a bit, yes.


MR. PARADIS:  Right.  I'm just trying to find the reference where we've provided the updated list of jobs for 2013.


MR. MIKHAIL:  But we can take an undertaking on that, if that's going to be a bit too much for you to flip back and forth.


MR. PARADIS:  What I would like to address is that for 2013, one of the projects for, I believe, Windsor TS shows a larger cost compared to other proposed work.  And the variation for that specific project -- which I believe would affect the evaluation on a per-project basis upwards -- is due to the requirement to do some civil replacement, as part of addressing the leaking cables.


So that would, of course, greatly impact the cost for that specific job, which I believe would, in turn, impact the average cost per unit for that year.


MR. MIKHAIL:  Can we get an undertaking to just explain the variations over the years?  You know, because there's other years where the cost is also quite a bit high -- not as high as 2013.  Just for us to understand the drivers for the variations?


MR. PARADIS:  So just for clarification, you would like to see an average cost per unit over what period of time?


MR. MIKHAIL:  Well, I think the IRs from VECC traced it from, I think, 2007.  But from 2008 to 2013, if we can look at the cost for the capital spending, the kilometres for replacing the cables, and look at the unit cost when you divide one by the other one, and why there's such a big variation.


You have explained the 2013, but there is also a big variation, say, at 2012.  It's four times that of 2009, for example, in terms of unit cost, so...


MR. RICHMOND:  And, as well, you indicated average cost.  If you could indicate what those drivers were that gave rise to that variability, it would be helpful.


MR. MILLAR:  I think that will be JT1.12.  I think the starting point would be from VECC IR 37 where it shows the chart with the capital spending in the kilometres.  It is very simple to do a calculation there to get unit cost per kilometre.


I think what we're getting at is that there is a very large variation year over year.  We have also projected 2012 and 2013, which aren't on this chart, but the variation continues there, and I think we're looking for a better indication of what are the drivers for those varied costs over the years.  And that is JT1.12.

UNDERTAKING NO. JT1.12:  TO PROVIDE DRIVERS FOR VARIED COSTS REFERENCED IN VECC IR 37.

MR. KERR:  May I make a clarification?  My colleague pointed out I may have unintentionally misled with an answer with respect to the submersible transformers.


I just wanted to clarify that when we talk about using the switchable transformers and the enhancement to the system that's gained by using those switchables, that enhancement could be classified as, if you will, an ancillary benefit to using that new type of transformer.


But that is not a driver for the need to replace the existing transformers.  The existing transformers do need to be replaced based on the condition that they're end of life, but I was just trying to illustrate that we don't simply replace like for like.  The new standard transformers that we have chosen to use do provide enhancements to the system.


MR. MIKHAIL:  So if I may sort of clarify something?  So for those that were targeted for replacement for the 34 jobs, I think that was the original evidence --


MR. KERR:  Right.


MR. MIKHAIL:  So for all of those, there's about 600 transformers, they're all past their useful life?


MR. KERR:  Either past their useful life or that it is more prudent, in terms of efficiency, to replace those transformers while we are doing the other work in that area.  So we --


MR. MIKHAIL:  So this is like packaging sort of advantages to changing them?  Anyway, I don't want to belabour that.  But, you know, if this is the case, it would be good to know how many of the 600 are really past their useful life.


MR. KERR:  Right.


MR. MIKHAIL:  And the other element to it, too, is the health index for those, because many assets go past their useful life and they're still in good condition to continue serving, but, anyway, I got your point.


MR. RICHMOND:  But I think what I heard you saying there is the ability to switch at individual unit was so attractive, it sounds like that was the driver for it, because you couldn't use the load break elbows to break load.  You want that ability.  These units have that.


So you were willing to put those in to get that.  I took that as your answer for --


MR. KERR:  Sorry.  That is where, as my colleague pointed out, I had unintentionally misled with that answer.  I was just trying to stress, you know, our due diligence in selecting a replacement transformer type for those that need to be replaced, and I am showing that, you know, we are being prudent in replacing with a switchable type as opposed to a non-switchable type for those ancillary benefits.


MR. RICHMOND:  Okay, thank you.


MR. MIKHAIL:  My next question is the box construction.  That is segment B5, and the reference IR is Board Staff IRR 39, tab 6F, schedule 1-39, and AMPCO IRR 34, tab 6F, schedule 2-34.


The response to AMPCO's IRR 34 is that the 4 kV box construction feeders are inadequate to supply new large customers.


So I was wondering if you can give us some good examples of where you encountered that, in the areas that you targetted for conversion to 13.8.


[Witness panel confers]


MR. PARADIS:  So I don't have a specific example of a customer we could not accommodate through our 4 kV system, although, if needed, we would likely be able to find an example.


I believe the consideration in this business case is related to a potential prudence of addressing the 4 kV system and converting to 13.8, rather than an actual driver for the replacement.


So as highlighted in the business case, there is a variety of considerations that are used to justify the business case.  This opportunity or possibility to accommodate larger customers, which we typically see these days in terms of request sizes with condominiums and loads of that nature, or intensification, is a secondary benefit, if you will, but it's not a primary driver for the replacement.


MR. MIKHAIL:  Okay, thanks.


Now, part of the response and one of the drivers for taking that on is the 3-metre separation required by the ESA.  And I think the evidence and the response to the interrogatories is that many buildings, when they are replaced or rebuilt or new ones, they sometimes exceed or encroach on that limit, and that makes it sort of a risk, I guess, if I can interpret it that way.


Is that a reasonable characterization of what's being conveyed through that 3-metre limit?


MR. PARADIS:  I think it was used mainly to highlight some of the complexities associated with managing the existing 4 kV infrastructure in the environment that we currently operate in.  But, again, I don't think it would be fair to say that it's one of our primary drivers, once again, for the replacement.


MR. MIKHAIL:  And who is the authority that enforces that limit?  Like, if somebody encroaches and exceeds that limit, who is it that would make sure that it's not exceeded?


[Witness panel confers]


MS. BYRNE:  So I will attempt to answer the question.


The safe limits of approach are identified in the Occupational Health and Safety Act.


And so what Toronto Hydro was trying to do here in this evidence was explain that when new buildings go up within proximity of existing lines, it is not so much a matter of enforcement, but it's a matter of the practicalities of now having increased risk, either for public safety or for workers, that there is encroachment on our lines.


MR. MIKHAIL:  So if a building exceeds that, who is the entity that makes sure that they comply with it and don't encroach on your limits?


MS. BYRNE:  Essentially, there isn't one.  There are no current provisions in the building code -- and we have confirmed this with the city of Toronto -- that would give them reason to deny a building permit where there would be encroachment on an overhead line.


So we have taken an approach of education and awareness.


MR. MIKHAIL:  And do they follow up with that?  Do they -- for a new building, for example, they would not give the permit unless they comply with that requirement?


MS. BYRNE:  No.  Unfortunately, the city isn't willing to use that as a reason not to grant a bulling permit.


As they've put it to us, essentially, those requirements aren't in the building code, and their jurisdiction is to enforce the building code only.


MR. MIKHAIL:  Okay.  Thanks.


Okay.  My next question is for B6, which is the rear lot construction; it is going to be a very quick one.


Our understanding is that there is an established policy that most utilities followed, that when you -- as a utility, when someone requests an underground service, you ask for capital contribution for the difference in costs between overhead and underground.


Now, in this case here I understand it is retrofit, but why can't the utility -- in this case, Toronto Hydro -- request that?


Or is Toronto Hydro's policy now changed, that you don't ask for that?


[Witness panel confers]


MS. BYRNE:  So if I understand your question correctly, it's:  Why don't we require a contribution from customers when we're doing a rebuild?


MR. MIKHAIL:  That's correct.


MS. BYRNE:  So essentially our current design standard is that the rear lot would be built as a front lot underground.  In those cases it's Toronto Hydro that is choosing to do the project, advancing it, and so we've decided, as part of our standard, that we will take those costs as part of the project and not ask for a contribution.


However, in the case where we had existing overhead and one individual customer wanted a different service, such as an underground, built specifically for them, they would be required to contribute.


MR. MIKHAIL:  Okay.  So there's a change in policy when you are converting from rear lot to front, to always go underground; is that correct?


MS. BYRNE:  Our current design policy states that we'll go to front lot underground.


MR. MIKHAIL:  Okay.  And because of that, you can't ask for a contribution, since your policy is to do that; is that correct?


MS. BYRNE:  Yes, I would agree with that.


MR. MIKHAIL:  Okay.  Thanks.


MR. RICHMOND:  We have a question on the fibertop network units.  And I note that Bill Harper asked some questions on that, but I think we have a little bit of a different take on it.


We have a reference here, Board Staff IRR 43, and really the principal reference is AMPCO IRR 16 and 17.


And sort of as a setup to that, my understanding is these units are mostly in the former Toronto area; is that correct?


MR. PARADIS:  That is correct.


MR. RICHMOND:  Yes.  So I am just looking at AMPCO IRR 16, and it shows units replaced; in 2009, there were 16, and 2010, 36, and then it dropped back to -– '11, 2011, was 16, and then four for 2012.


I think you had made reference to that in answering Bill's question, but my understanding from looking at this is that historically -- or you have indicated that, I think, in evidence, that your previous cleaning schedule was something like three to five years, but then you improved that.  You improved it to a yearly basis, but then it looks like on improving it, you increased your frequency of removing units from service unless the timing was different than the 2010 time frame.


I wondered why you didn't wait to see how that worked out before ramping up -- before changing the number of units you took out.


MR. PARADIS:  Toronto Hydro has established that the fibertop protectors were essentially a misapplication of the asset, in the sense that its design and the construction of the unit makes it problematic for the environment that most units currently operate in.


And as such, we have identified that population as being due for replacement, because of the nature of the unit and the environment it operates in, essentially because of the misapplication of the asset.


Sorry, I lost the...


MR. RICHMOND:  So was that decision taken after you increased the cleaning schedule?


You found that that wasn't helpful, I guess is what I hear you saying.


MR. PARADIS:  So the enhanced cleaning schedule is what I would call a good sustainment measure in awaiting a permanent solution, which is the replacement.


You are correct in pointing out that we have not had a full opportunity to evaluate the impact of the enhanced cleaning schedule, although we do have instances where it has shown to have a limited impact.


But I think the fundamental point is that the assets will be replaced, and that the maintenance -- even though it is more aggressive, as highlighted -- is meant to get us to the point where we can execute the work.


So essentially we're managing the population while we try to execute the replacement, as intended.


MR. RICHMOND:  Okay.  Thank you.


MR. MIKHAIL:  The next one, I don't know if that is the panel that will deal with that.  It is in the power -- station power transformers, B12.  Is that to the next panel or is it to this panel? 


MS. BYRNE:  Yes.  Those questions would be appropriate for panel 3.


MR. MIKHAIL:  Okay, thank you.  So that concludes this part of our questions.  So the stations and Bremner will be the next panel; right?


MS. BYRNE:  Correct.


MR. MIKHAIL:  Thank you.


MR. MILLAR:  Okay.  That is everything from Staff for this panel.  Do we have a volunteer to go next?  I see it is about 12:30.  Maybe we will take a break in about 15 minutes or so.  I don't know if anyone can squeeze in for 15 minutes, or does anyone still have questions for this panel?  No one?  Okay, then maybe it makes sense to break for lunch now --


MR. FAYE:  Excuse me, Mike.


MR. MILLAR:  Yes.

Questions by Mr. Faye:


MR. FAYE:  Could I have just one follow-up question for Chris?  We had talked about the high cost of the overhead alternative on rear lot conversion.


MR. KERR:  Mm-hm.


MR. FAYE:  You mentioned that one of the -- one significant cost that doesn't apply, if it is done underground, is this relocation of the meter base and the subsequent cost of running conductor back to where the distribution panel is in the house.


I reread our IR and I wasn't specific in that particular one, and others, that we touched on the same subject.  I did specify underground secondaries.  If it was an underground secondary off the overhead, that would avoid that relocation of the meter base problem, because you could run right back to the existing meter base; is that right?


[Witness panel confers]


MR. KERR:  I think in terms of a hypothetical question, ignoring, you know, the potential reliability or, you know, the fact that it is not a current standard design practice, again, as a purely hypothetical I think it may be possible, to do the, you know, underground in the secondaries.


But I would have to -- again, I am just answering as a hypothetical.


MR. FAYE:  It would be essentially the same situation as doing an underground secondary off an underground primary system; right?  I mean, the routing would be slightly different.  It would go to the pole rather than transformer, but, in theory, if you can do one, you can do the other, wouldn't you?


MR. KERR:  I guess, like, in my head just answering that question, I am thinking of a similar scenario where we actually had the overhead secondaries and underground primaries.  So it is like your example in reverse.


And our experience with that type of construction, where one part is overhead and the other part is underground, it posed -- it actually became one of our worst-performing feeders for the very reason that the underground cable was going above grade, and then it goes underground.


So, you know, in my head, in answering your question, I am just thinking about our experience with those sorts of hybrid systems, and I can say that we have experienced problems when you kind of hybridize a system like that.  But, again, I think you are correct, in a theoretical sense, that you could put those secondaries underground.


MR. FAYE:  Okay.  So the main point was that if this analysis in tab 6F, schedule 7-39, upfront project costs for option 3, if that was done on the basis of an overhead secondary from front lot overhead primary, that wasn't our intention.


I wonder if you could rerun that model with underground secondary there?  That eliminates the meter base complication.


[Witness panel confers]


MR. KERR:  I don't think it would be possible for us to run that example, as we are speaking as a purely theoretical.  We don't have standards for that type of construction.  It's not a design practice.  We don't know what the cost is.  So, I mean, to do something like that, and then incorporate those costs into the model...


MR. FAYE:  Okay.  Then here is another way to go about that, if you would.


We have an undertaking JT1.6 to break out the costs in that 57.1 million.  Could you just make sure that part of the breakout is the relocation of the meter base and the cost of getting back to the distribution panel so we have an idea of how much that is in the overall scheme of things?


MR. KERR:  I think we can do that, yes.


MR. FAYE:  Okay, thanks.


MR. MILLAR:  JT1.13.  I'm sorry, it is a continuation.


MR. KERR:  It was to attach to 1.6.


MR. MILLAR:  It will remain there.  Mr. Brett, I see you had a question.

Questions by Mr. Brett:


MR. BRETT:  Two quick follow-ups.  One is with respect to your discussion of the switchable underground transformer.  Could you just describe a little bit more what distinguishes a switchable transformer from a non-switchable transformer?


The example that you gave was, I think, when you had a string of transformers with your current -- your now-current standard model.  If the transformer at the head of the string went out or needed repair, you would have to shut down perhaps the entire string of transformers.  That's what I understood you to say.


If that transformer at the head of the string, or wherever it was, was a switchable transformer, you would not have to shut down the other transformers, so you wouldn't have nearly as much disturbance.


Is that the case, and could you just explain a bit more what the features of the switchable transformer are relative to the current non-switchable transformer?


MR. KERR:  Sure.  If I can just clarify, when I was talking about the switchable transformers, we -- again, that is our current standard for a transformer to use.  So any submersible transformer that gets replaced is replaced with a switchable, which means that the entire, I will call it, string of transformers may be switchable, not just, you know, the first transformer.


MR. BRETT:  All right.  Okay.


MR. KERR:  So I think to most aptly describe the way in which our current setup works is if you think of a T junction.


MR. BRETT:  Right.


MR. KERR:  So right now we have the primary cable comes in to what we call a multi-tap, and then through an elbow you connect the cable to the multi-tap.


Then there is a second elbow with an outgoing cable to the next submersible transformer on the multi-tap.


MR. BRETT:  Mm-hm.


MR. KERR:  Then there is a third elbow on the multi-tap which basically connects the submersible transformer in the vault to the string of primary.  So the multi-tap, it is like a little T junction, essentially, that is in every vault.


As was earlier brought up about, you know, having load break elbows, we talked about, you know, the extensive maintenance work and, I guess for lack of a better term, record keeping that is required to be able to use those elbows as load break.


And we don't -- I think the risk is too high to our crews to be able to use those elbows, which are already at their end of life as load break.


But that is just a quick overview of the current setup.  So when we use our current standard transformer, instead of having that T junction point in every vault, essentially the cable comes in one side of the transformer and goes out the other, and integrated into each transformer are two switches, one switch basically for each cable.


So what that enables us to do is, you know, essentially the idea of load-breaking.  We can use the switch, which is now integrated into the transformer, to isolate the transformer, or you could go to, you know, two opposing transformers and activate the switches to isolate the cable segment between the two transformers.


MR. BRETT:  So it enables you to switch a load off effectively in a way that doesn't pose you monitoring or safety problems, and also at the same time -- or perhaps another way of saying the same thing -- to isolate a particular transformer for repair?


MR. KERR:  Yes, yes.  If I could emphasize the –- you know, the safety aspect with the current conditions of the elbows and the multi taps.


MR. BRETT:  My second -- thank you.  My second question has to do with the discussion around the retrofit of existing buildings and having that retrofit impinge upon some existing wiring, and that being subject to ESA approval.


And I am making some assumptions here that it is subject to ES approval; if it isn't, perhaps you could tell me.


But -- and your point that it doesn't require – it does not involve building code -- that the risk is not one that is mitigated by a building code permit.  Or put it another way.  You are not required it take action by the -- by a building permit requirement.


My question was just sort of an ancillary question.  Does this call into question -- notwithstanding what you did -- what you said, in the event of a retrofit that does get closer to existing wiring than is appropriate, or poses some risk to the existing configuration of wiring, does that impact on your insurance requirements, or your insurance enforceability or availability?  Do you know?


In other words, could an insurer use that configuration as a way of denying you coverage, if there were an incident?


MS. BYRNE:  I will attempt to answer, even though I admit I don't know really anything about insurance.


But I will go back to the situation that exists now, and perhaps -- and we do see it as a gap in the enforceable legislation.


MR. BRETT:  Right, right.


MS. BYRNE:  So because the limits are only in the Occupational Health and Safety Act, therefore they're only enforceable by the Ministry of Labour for workers coming within those safe limits of approach.  So the Electrical Safety Authority doesn't have jurisdiction where there is existing utility assets.


They themselves have done a lot of public safety education-type campaigns, and continue to do so with municipalities, with utilities.


And so the recourse that seems to be available -- and Electrical Safety Authority is pursuing this -- is trying to get a code change into the building code.


Certainly it is a concern for us, because it is a public safety concern, that if the building is closer to the overhead wires, then the chance of a homeowner, resident or a worker coming in proximity is greater.


MR. BRETT:  Mm-hmm.


MS. BYRNE:  And it might be a worker during building construction, or it might be during some future maintenance of the building.


MR. BRETT:  So it is really a worker risk issue, as opposed to a building construction issue?  It is a worker safety issue primarily; is that...


MS. BYRNE:  I would say it is two types of safety issues.


It is a worker safety issue, either for building or for future maintenance, eaves trough or window cleaning, something like that, but it also could be a public safety risk, where if a building permit is issued that allows for something like a window or a balcony where people are then within reach of the wires, then it becomes a public safety risk for those residents or the people that would be on that balcony, for example.


MR. BRETT:  Okay.  Thank you very much.  Those are my questions.


MR. MILLAR:  We actually have one very quick follow-up.  I apologize, Mr. Cass.  Mr. Mikhail had one additional quick question.

Questions by Mr. Mikhail:


MR. MIKHAIL:  It is a very quick one, just to get a sense of the total picture for that B1 segment.


So the total number of submersible transformers on the system, I think it is mentioned in the evidence, but if you can sort of compare that to the standard ones that you are now installing, how many have been installed, standard submersible underground transformers?  How many that have been replaced so far from the total population?


MR. MILLAR:  Is that something the company can provide?


MR. KERR:  Just for clarification, are you asking about in specific jobs, or over a specific time frame?


MR. MIKHAIL:  No, for the whole system.  Like, what -- how many submersible transformers that are non-standard that have been replaced with standard, from the time that you introduced the standard transformers to be always replacing the non-standard whenever you replace.


Is that fair enough?  Or...


[Witness panel confers]


MR. KERR:  I think we could get at least a very good ballpark of that number.  You know, to differentiate between where was a brand new transformer installed -– like, it was an addition versus a replacement -- it might be tough to filter out those, but on the whole, I think we can get a number of how many submersibles have been installed in the system over the last few years.


MR. MIKHAIL:  Okay.  Since you introduced that new standard, right?


MR. KERR:  Sure.


MR. MIKHAIL:  Yes, if you can give us that, that will give us a sense of the total.


MR. MILLAR:  JT1.13. 
UNDERTAKING NO. JT1.13:  PROVIDE ESTIMATE OF HOW MANY NON-STANDARD SUBMERSIBLE TRANSFORMERS HAVE BEEN REPLACED WITH STANDARD TRANSFORMERS.

MR. MILLAR:  Yes, I'm sorry, Shelley.


MS. GRICE:  I'm sorry.  We have two quick questions for this panel.


MR. MILLAR:  Okay.


MS. GRICE:  Sorry about that.

Questions by Ms. Grice:


Hi.  I know you can't see me from way over there.  I am Shelley Grice, representing AMPCO.  We just have a couple of quick clarification questions.


The first one is with respect to tab 6F, schedule 2-6, and this is AMPCO Interrogatory No. 6.


And in that interrogatory we asked for Toronto Hydro to provide the labour components of the capital programs that were listed in appendix 1, so that covered all of the -- all of the segments.


And we just did a quick calculation showed that for 2012 labour was about 17.4 percent, and for 2013 approximately 16.14 percent.


We just wanted to understand if this is sort of a typical percentage of what the labour components are for your capital programs.  Is it reasonable to conclude that?


MR. PARADIS:  I think it would be a question better answered by our panel number 4.


MS. GRICE:  Okay.  Thank you.


And then my next question is regarding tab 6F, schedule 2-6.  This is AMPCO Interrogatory -- oh, I guess it is No. 6, part (h), and this has to do with the capital spending in 2012, 2013 and 2014 that does not include replacement.  And the response says that:

"Of the capital spending over 2012 to 2014, $366.74 million does not pertain to work including replacement."


We just wondered if we could get that broken down for 2012 and 2013.


MR. PARADIS:  Again --


MS. GRICE:  Is that panel 4?


MR. PARADIS:  Yes, I believe that is panel 4 once again.


MS. GRICE:  My apologies.  Thank you.


Okay.  That's it.


MR. MILLAR:  Mr. Cass, did you have anything more for this panel?


MR. CASS:  I just wanted to say, Mike, before we break for lunch, that, again, the witnesses from PSE are really only available today.  It sounds like we are on track, that any questions for them will be completed today, but I just wanted to remind people if they do have questions for those witnesses, after lunch would be the time to ask them.


MR. MILLAR:  Okay.  So let's take our lunch break now.  We will make it just an hour and come back at 1:50.  Thank you.


--- Luncheon recess taken at 12:49 p.m.


--- On resuming at 1:54 p.m.

MR. MILLAR:  Okay, welcome back, everyone.  We will commence the afternoon session.


Board Staff had a couple of carry-over questions for the morning panel, so I will hand it back over to Mr. Mikhail or Mr. Richmond.


MR. MIKHAIL:  Mr. Richmond will start.

Questions by Mr. Richmond: 


MR. RICHMOND:  Yes, I am on now.


We're looking at a segment B19, feeder automation, and there's a few IRs -- IRRs that we have referenced, Board Staff 59 and 61 and VECC 90 and 91.  That forms the basis for our questions.


So in the IRs, what we had done was do a bit of a sensitivity analysis and asked you to rerun that with a different restoration time, and you did that and we have the results.  And also VECC asked you to do a similar thing with respect to the value of outages, and you ran that with a different value and we see those results in front of us.


I guess first it is fair to say that with the change you came up with, there is a bit of variability there in that, depending on what the assumptions are or what the values put in.


So as a question, I think you updated your data -- updated your application with respect to the automation, and you reduced it by a million-and-a-half dollars.


So I was just wondering, how did you do that?  Did you use this tool to take out the lower value ones, or how did you come up with that end result?


MR. KERR:  If I just may ask for a clarification, you're speaking about the decrease in cost for the segment as a whole?


MR. RICHMOND:  That's right, where you go from 24.1 million to 22.6 million.


I think -- does that relate to other than feeder automation?


MR. KERR:  Sorry, I am just trying to find the page in evidence where it lists the overall costs here.


MR. RICHMOND:  Sorry, it is tab 4, schedule B19, and it's the update header with the box around it.


MR. KERR:  Yes.  So within the feeder automation segment, there was essentially a technical hurdle that was encountered with the 2013 deployment.  So, as a result, part of the originally-filed feeder automation program that was originally filed to take place in 2013, some of those jobs within the segment had to be pushed out due to technical difficulties with the ongoing work with the solution vendor.


MR. RICHMOND:  Some hardware --


MR. KERR:  Yes, basically hardware technical hurdles that we're working through right now, and that resulted in us needing to push some jobs out, because the solution isn't available for the 2013 deployment as we thought it was.


MR. RICHMOND:  So was there some thinking around which ones to push out in respect of which ones were higher value, or was this very specific as to location or something?


MR. KERR:  It was specific to the ones where it was feeder automation employed on the underground pad-mounted switches.  So basically the engineering solution to enable feeder automation on those switches does not exist for our system yet.  So by necessity, we had to push some of those jobs out, but the feeder automation for the overhead is still the same as it was.


MR. RICHMOND:  Okay, thank you.


Looking at that -- and I acknowledge that, using your results, it does look beneficial in many cases, notwithstanding even the results of the sensitivity analysis.  But when you look at this, it does seem to me this is in the category of betterment or improvement, or that sort of thing, rather than a true non-discretionary project.


What would be your comments on that?


MR. KERR:  With respect to this feeder automation segment, if I may refer in evidence to the manager's summary, tab 2, page 16 and 17.  Sorry, more specifically at page 17.  We will leave it at that.


MR. RICHMOND:  Can you give us a minute?


MR. KERR:  Sure, yes.


MR. RICHMOND:  Okay, we have it.


MR. KERR:  So as you can see in the business case, there's tremendous reliability benefit to the system by implementing the feeder automation projects.


So with respect to the need, if -- basically what I'm referring to on page 17 here is line 6, existing or imminent reliability degradations.  And if you look further down on page 17, lines 20 and 21, we have said that not all projects are non-discretionary based on all of the above considerations, but every project is needed in non-discretionary based on at least one of these criteria.


So with respect to the feeder automation, we're saying that in order to ensure the reliability of the system and ensure that reliability does not degrade substantially, that the feeder automation is the most prudent, cost-effective way to ensure that for the feeders selected.


MR. RICHMOND:  So my understanding in your algorithm, really it is the reduction in time, because if you had an operator switch -- and under your evidence, you had said, well, that may take 30 minutes.  With this it may take five.  So the reduction there is obviously a time-based reduction.


Is there something else I am missing in the automation?


MR. KERR:  Yes.  Just in point of clarification, for the feeder automation we're saying it would drop from 30 minutes to one, not from 30 to five.


But you're correct in that the reliability benefit does come from the reduction in the duration of the outage.


MR. RICHMOND:  Right.  So there is no other factors in this?  This is just the ability to decision-make in a faster way, and then execute those results?


[Witness panel confers]


MR. KERR:  I'm sorry, can you repeat the last question?


MR. RICHMOND:  Well, again, I mean, from doing this project -- and, I mean, I'm still struggling why it's -- I mean, it may well be a good thing.  It sounds like a good thing based on your assertions.  It is hard for me to see it is a non-discretionary, because what you're doing is, with the automation, obviously the decision-making is done much faster with this embedded rule set, and then the switching is done.  It's executed much faster and that gives you your benefit.


And, yes, that is a very positive thing.  It just -- I'm just still wondering why that makes it non-discretionary; that's all.  We're not arguing that it's favourable.  So...


MR. KERR:  So, again, for the feeder automation, the main driver would be the -- as we said in the manager's summary, the part (c) under "need", which is the existing or imminent reliability degradations.  So...


MR. RICHMOND:  And those would be caused by faults not being cleared as fast as they would be under this.  Is that what you're saying?


MR. KERR:  Yes.


MR. RICHMOND:  Okay.  All right, thank you.  


MR. MIKHAIL:  The next -- so the next area is segment B21, and it's the plant relocation.  The interrogatories -- sorry, the response to interrogatories are IRR 63, Board Staff, Schools 23 and VECC 94.  So it's IRR 63, Board Staff, IRR 23, SEC, and IRR 94 from VECC.


And they're simple questions, basically.


In the response to -- in the evidence and response to Board Staff, it was indicated that the practice is to replace like for like, but in response to Schools No. 23, there was indication that it's a mixed bag.  There is some situations where there was no upgrading, some situations there were.


So I just want to confirm that this is the case here.  You actually don't always replace like for like, but you have a mix, depending on the situation; is that correct?


MS. BYRNE:  That is correct.


MR. MIKHAIL:  Okay.  So that's fine.


The second one is, for projects in excess of four million, we would like to get a cost breakdown between labour, material and overhead that was supplied as part of the evidence.


So if that is possible, we would really like to get that.


MS. BYRNE:  So just to clarify, so is this essentially taking Interrogatory 23 and revising it?


MR. MIKHAIL:  Yes.


MS. BYRNE:  And for only those projects over $4 million?


MR. MIKHAIL:  Yes, please.


MS. BYRNE:  Okay.  Sorry, that was labour, equipment and materials?


MR. MIKHAIL:  And overhead.


MS. BYRNE:  And overhead?


MR. MILLAR:  JT1.14.
UNDERTAKING NO. JT1.14:  to REVISE RESPONSE TO SEC INTERROGATORY 23 TO PROVIDE BREAKDOWN OF LABOUR, EQUIPMENT AND MATERIALS FOR PROJECTS IN EXCESS OF $4 MILLION.

MR. MIKHAIL:  And that concludes our questions.


MR. MILLAR:  I think that is everything, then, for the first panel.  So thank you, panel.


And perhaps, Mr. Cass, you could bring up the next panel.


MR. CASS:  Yes.  For the next panel the witnesses from PSE and Navigant will remain, and joining them will be Tom Odell and Mr. Simpson.

THESL - PANEL 3, CAPITAL PROJECTS B


Eugene Schlatz


Steve Fenrick


Erik Sonju


Jack Simpson


Tom Odell

MR. CASS:  For everyone's benefit, Jack Simpson is closest to the reporter, and beside him is Tom Odell.  I don't think any other introductions are needed.  And questions can proceed.


MR. MILLAR:  Thank you.


I believe Mr. Gibbons wanted to go first?

Questions by Mr. Gibbons:


MR. GIBBONS:  Yes, thank you Michael.  I really want to go first.


Panel, I am Jack Gibbons.  I am here for Environmental Defence.  And our counsel sent a letter on November the 19th to the Board and to Toronto Hydro with our four questions for this panel.  And I would like to deal with those questions now.


So our first question was:

"In relation to the upgrades required at the Windsor transformer station, how long would any one switchgear bus be out of service while the obsolete equipment is replaced with new equipment?"


MR. SIMPSON:  Thank you.


The average duration for the switchgear change-out is 18 months, and that would be plus, minus a number of months, depending on the specific conditions that we have at each location.


And so for Windsor, it is approximately 18 months.


MR. GIBBONS:  That the switchgear bus will be out of service?


MR. SIMPSON:  Yes.


MR. GIBBONS:  Okay.  Maybe I could turn you to page 10 of the Navigant evidence, the business case analysis, April 2012.


MR. ODELL:  Where is the page reference?


MR. GIBBONS:  Eleven.  Now, on this page, Navigant is dealing with the potential need to replace a transformer at Windsor if there is some kind of accident and it has to be removed.


And at the bottom of the page, the bottom sentence, it says:

"The time for removal, transport and reconnection of an extremely large and heavy 100 MVA transformer would be up to 90 days or longer."


Now, the transformers we're talking about here, at Windsor, are 72 MVA, which is less -- a smaller size than 100 MVA.  But the Navigant report says they could be changed out in approximately 90 days.  Why would it now take 18 months?


MR. SIMPSON:  There may be some confusion you are seeing there, Mr. Gibbons.  If I heard correctly, the reference was to a transformer change-out, and what we're referring to is the switchgear line-up, not the transformer.


The 90 days may be a reasonable figure for transformer replacement, if a spare was available and could be shipped, for that 100 MVA unit.  That is very large.


But the 18 months that we answered concerned the switchgear line-up, not the transformer.


MR. GIBBONS:  But it does include the transformer?


MR. SIMPSON:  That is separate from the switchgear.


MR. GIBBONS:  Okay.  So Question No. 2:

"How many megawatts of capacity would be lost while a switchgear bus is being replaced at Windsor?"


MR. SIMPSON:  This was discussed in an earlier IR, which reported approximately 72 MVA, and the corresponding megawatts are 66 for that Windsor configuration.


MR. GIBBONS:  Thank you.


Question No. 3:

"Please provide an electronic spreadsheet showing the demands in megawatts of each of the five downtown transformer stations in hourly intervals for every hour in 2011."


MR. SIMPSON:  That information is available, and we can produce it, an undertaking for that.


MR. MILLAR:  JT1.15.
UNDERTAKING NO. JT1.15:  to PROVIDE SPREADSHEET SHOWING THE DEMANDS IN MEGAWATTS OF EACH OF THE FIVE DOWNTOWN TRANSFORMER STATIONS IN HOURLY INTERVALS FOR EVERY HOUR IN 2011.

MR. GIBBONS:  Thank you.


And then Question 4:

"Please provide a table listing the resulting reductions in demand for each day on which demand was curtailed through the Ontario Power Authority's non-residential demand response programs."


And we're seeking that information for both 2011 and 2012, and we're also seeking it broken out by each of the downtown transformer stations, on the relevant days.


MR. SIMPSON:  The information has been requested from OPA.  My understanding is that it is available in aggregate, and we will provide that.


The number, I understand, is 5.4 megawatts for the five associated stations.  If you require higher granularity, you'll have to seek that from the OPA directly.  It has some contract- and customer-specific information which we are not privy to.


MR. GIBBONS:  Well, Jack, we asked -- you say 5.4 megawatts, but there is -- in both 2011 and 2012, there were a number of days when there were curtailments.


Are you saying on all of those days it was 5.4 megawatts?


MR. SIMPSON:  The contracted capacity that OPA reports to us is 5.4 megawatts, and if you are after more specific information, it will have to come directly from OPA, again, because of the contract nature.


MR. GIBBONS:  Okay.  So I am trying to understand what you're saying.  You're saying the 5.4 is the contracted amount of demand reduction, but is that the same as the amount that was actually realized in those days?


MR. SIMPSON:  It may differ.  I believe there was an earlier IR where we responded to some of the dispatch information, and we don't have updated information for those five specific station areas.


MR. GIBBONS:  So we've requested it.  Have you requested of the OPA to provide all of the information that we have requested of you?


MR. SIMPSON:  We've had discussions with OPA as far as what's available to us, and they have indicated that it's 5.4 megawatts aggregate contract capacity and that if you require additional details, you have to ask OPA directly.


MR. GIBBONS:  Okay.  Well, I guess we'll do that.  I mean, we may have to come back with a motion at the Board directed at you, but we will try that.  Thank you.


MR. MILLAR:  Is that everything, Jack?


MR. GIBBONS:  Yes, thank you.


MR. MILLAR:  Thank you.  Who will volunteer to go next?  Anyone itching to get at this panel?  Bill, did you have questions for this panel?  I am volun-tolding you.

Questions by Mr. Harper:



MR. HARPER:  I know I am the closest to you.  Yes, I do have a few that I think maybe Mr. Cass indicated I should be directing to panel 3.


The first one, if you have the materials that I sent to Toronto Hydro handy, the first one was VECC Technical Conference Question No. 19.  That is looking specifically at tab 6F, schedule 11-70, which was your response to VECC IR No. 70.


Here, basically what you were good enough to do - and this sounds similar to what we asked in other ones - is what you have indicated was the optimal timing for the replacement of each of the transformers -- this is on page 3 of that response -- for each of the transformers that were proposed in the original application covering the period 2012 to 2014.


MR. SIMPSON:  Yes.  Proceed.


MR. HARPER:  And, again, I thought these were asked of yourself.  I noticed there were a couple of transformers on here who had -- the optimal timing was well in excess of -- well past 2015, and I was just wondering, are those two transformers still scheduled for replacement in the shorter 2012 to 2013 period, or are they now off the table for that period given the update?


MR. SIMPSON:  Forgive me.  Specifically which transformers?


MR. HARPER:  Well, if you look at that table on page 3, you've got jobs and you've got a number there.  I guess there are zeros under both of them, which suggests to me the optimal timing is 2012, but there are specific jobs, 2817, with the optimal timing 21 years out, and 2823 with the optimal timing seven years out, and I was just wondering if those two jobs were still scheduled to be undertaken in the shorter period we're covering here now, which is 2012 to 2013?


MR. SIMPSON:  Could you give us a moment just to find that reference again, please, the table you're referring to?


MR. HARPER:  Well, it's the -- on page 3 of your response to VECC Interrogatory No. 70, which is tab 6F, schedule 11-70.


MR. SIMPSON:  Yes, in our original response to VECC 70.  What is your question?


MR. HARPER:  Well, my question was this lists all of the transformers you had originally planned for replacement when we were looking at a three-year plan, effectively.


If you notice on that, like I said, there were two transformers there, and you can see them by the 21 and the 7 figures in the second column, that had optimal replacement dates well past 2015.


And I was just wondering, given we're now dealing with the update, two shorter years and probably a shorter list of transformers for replacement, whether those two transformers were still scheduled for replacement in the 2012-2013 period in your update.


MR. SIMPSON:  Some of the projects have needed to be adjusted.  There are a number of factors that drive that.  Can we execute the work?  Are there equipment lead times?  Is there bundling with other work?  And I can probably take that on as an undertaking to get clarity on which ones you are missing.


MR. HARPER:  Okay.  Well, I guess maybe if you want to do it by way of undertaking, because my follow-up was, and I think I had a similar conversation, if you were in the room this morning, with the earlier panel -- was if those two transformers, the ones with the optimal replacement dates that are 21 -- one has 21 years out from now -- are still on the list.


The question is:  I would presume there must be some intangibles beyond risk cost and project costs that are driving leaving them on the list, so the second thing would be, if either of them is still on the list, what are the intangibles that make it necessary to continue to do those, while some other ones you may be dropping where the optimal timing would seem to be now.


MR. SIMPSON:  Yes.  The condition is one of the factors.  Another may be the site inspection and presence of a leak, an oil leak, or environmental issue that we need to deal with sooner than later.


MR. HARPER:  So those things wouldn't be taken into account in the risk analysis you go through as part of this evaluation here?


MR. SIMPSON:  It is a group of assets that it is important to get to sooner than later because of the risk factors, but there are other considerations we have such, as the impact of the outage restoration time, damage to adjacent equipment, et cetera.  So it's one of the important factors, but it doesn't preclude going in earlier because of other drivers or factors.


MR. HARPER:  That's what I was trying to get a sense of, if there were other drivers and what they were.  That was actually the objective here.


So is there somewhere in the -- there probably is in your update -- maybe if you could just confirm.  In your updated evidence, will I be able to find somewhere whether these two transformers are still scheduled for replacement in 2012 and 2013 in your updated filing?


MR. SIMPSON:  Forgive me, what exactly?  Which two projects are you referring to?


MR. HARPER:  2817 and 2823.


MR. SIMPSON:  Which are Scarborough Golf Club and Ellesmere?


MR. HARPER:  You probably know the numbers for the transformers better than I do, yes.


MR. SIMPSON:  So I believe we can answer that here.


MR. HARPER:  Okay.


MR. SIMPSON:  The 2817 Scarborough project, the primary reason is oil leaks, and so there is environmental risks that is driving things here.  And that leak means that there is moisture and contamination to the oil fluid in the transformer, and so we've got a problem building.


2823, as far as Ellesmere, it is a similar condition, where, if you see the photos in the evidence, there is an oil leak, and so, again we have an environmental risk.


MR. HARPER:  Okay, fine.  Thanks.


The next one I would like to turn to would be tab 6F, schedule 11-72, which I guess is just two IRs further on from the one we have just been talking to.


Again, it was a similar issue there.  If you go to the third page of that one, I was just curious.  There is a list of the projects you had originally proposed to include in your 2012-2014 program.


A number of these, particularly at the end of the list, have optimal timings in excess of 40 years from now, actually.  And so I was just wondering, with your shortened list, if you have a shortened list now, just for 2012-2013, are these projects still on that list, and, if so, why?


MR. SIMPSON:  Again, the projects will be put forward in terms of executability and coordination with other work.  If you can give me the specific job example which you're questioning the OIT, that would be helpful.


MR. HARPER:  Actually, if you go to page 3 of that response.


MR. SIMPSON:  For which IR?


MR. HARPER:  IR 11-72.


MR. SIMPSON:  And --


MR. HARPER:  Let's deal with a couple, the four at the bottom.  We have a location VMC S-33.  Like, I'm sure you must know where this is, but I don't, in terms of -- like I said, that one is showing an optimal intervention time of 40 years now.  So I was just wondering, as you are going down and winnowing down this list for your shorter period, is -- I guess the one thing, the first thing:  Is that project still on the list for 2012-2013?


MR. SIMPSON:  I'll have to confirm that with some of our staff, but again, it will be adjusted by the various factors driving the need:  Is there environmental risk?  Is there a bundling with other work?  Can we order the equipment in time?


I don't have it at my fingertips.


MR. HARPER:  Maybe when you're looking at -- like you say, it is the last four that all have optimal intervention timings 40 years in excess.  So maybe you could just confirm whether each of those four are still on your shortened period list.  That would be useful, from my perspective.


MR. SIMPSON:  Yes, we can do that.


MR. MILLAR:  JT1.16.
UNDERTAKING NO. JT1.16:  to CONFIRM WHETHER THE FOUR PROJECTS ARE ON THE SHORTENED PERIOD LIST.

MR. HARPER:  Okay.  My next reference is tab 6F, schedule 1-51, which is an OEB Staff IR.


And here you're talking about -- talking about breakers that are -- I guess I was just curious, are there any breakers that have a poor condition rating that are not included in those currently scheduled for replacement in 2012-2013?


MR. SIMPSON:  I'm just catching up to your reference, sorry.


MR. HARPER:  Okay.  Sorry.  It is schedule 6F -- excuse me, tab 6F, schedule 1-51.


I mean, the question asked about breakers that had a fair or good condition rating, and you gave a table there, but you also listed that breakers not listed were either in poor condition or didn't have a health score index.


And what was curious to me was then -- and so some other breakers that you were proposing had a -- in the original application, had a poor health index, and you were proposing them as part of your 2012-2014 program.


I guess what I was just curious whether, of all of those ones in poor condition, are they still on your shortened program now for 2012 or 2013?  Or did some of those come off the list as you were going down and doing the update for just the two years, as opposed to the three?


MR. SIMPSON:  I'll have to check again with our team on that.


Some things that are happening with the restructured schedule are lead times on equipment and that may have shifted the work force.  And so it will be an undertaking on that.


MR. HARPER:  So maybe that would be useful, if -- like, I guess my other thing is if you're doing all of -- if you're still doing all of the poor ones, that's fine.  If for some reason you weren't doing all of the poor ones and one of them was not, it might be useful if you could indicate whether it was a lead time issue, or what was the practical reason why you weren't getting to what was the more serious problems first, if I can put it that way.


MR. SIMPSON:  There are, again, a number of factors which drive that project.


Health index is one of them, and bundling with other work, lead time, coordination.  We'll get back to you on that, it sounds like.


MR. HARPER:  Okay.  Thank you.


MR. MILLAR:  So that's an undertaking?  JT1.17.

UNDERTAKING NO. JT1.17:  TO ADVISE WHETHER BREAKERS OF fair or good condition RATING ARE PROPOSED FOR 2012-2014 PROGRAM

MR. HARPER:  I think I will skip part (b) for now and just move on to VECC Technical Conference Question No. 22, that was dealing with the -– it's actually back to the main updated evidence, tab 4, schedule B-16.


On page 1, you were noting that the cost of the feeder tying Dufferin to Bridgman was now 9.4 million, and I think in the original application you quoted a cost of -- this is the total cost.  I realize you're only doing part of the work during this period, but in the original application you noted a total cost for that project of 7.45 million.


In the updated evidence, the project total cost had gone to 9.4, million which was roughly a -- I was curious if you could give us a brief explanation as to what seemed to be a fairly significant increase in the cost from when you filed the original application to when you did the update.


MR. SIMPSON:  Yes, yes.  There was -- as the design proceeded and the installation and construction proceeded, there was extra civil construction identified, and that was higher than our original scope and estimates.


Some of the path for that work, the vacant duct structures, could not be utilized because they had collapsed or were unusable.  And some are undersized for the new use.  This is a switch from our standard cable to our new PECs.


There are also challenges with the underpass, the actual routing with the CN rail tracks, and so those have all driven the cost a little higher.


MR. HARPER:  Okay.  Fine.  Thank you.


The next question, I think, was directed to this panel was VECC Technical Conference Question No. 24.


I guess I was trying to struggle, because I was looking at the original schedule B20, and then hooking at your response to Board Staff Interrogatory No. 62.


And I got the impression from one place that all of the switchgear replacements were required strictly for regulatory compliance purposes.  So that was directed by obligations -– had to do to meet obligations from the IESO and things like that.


One other place I got the -- excuse me, sorry, all of meter spending upgrades had to do with strictly with regulatory compliance.


Then when I was reading one of the interrogatory responses, it sounded like some of the metering upgrade was being done simply because it could be done at the same time as –- it was because the switchgear was being changed, and so you were including it as part of this, in conjunction with another project.


And I was just wondering, for clear confirmation, as to whether or not all of the wholesale metering that you are changing is required specifically for regulatory compliance purposes, or whether some of it is being done because it is convenient to do it now in conjunction with other work like the switchgear work.


MR. SIMPSON:  All of the work is necessary and mandatory because of the market rules change in 2004, where obligation for the wholesale metering was transferred to Toronto Hydro.


MR. HARPER:  Oh.


MR. SIMPSON:  The LDC changed from Hydro One.


We have many challenges getting to that metering work, because of its location or demarcation issues.  And so the work is scheduled with other major replacements, and we're proceeding on a 10-year program to get through that population of wholesale meters in due course.


And so it has to be bundled generally with other upgrades at the site.


MR. HARPER:  Maybe it was just the way I was reading the response.  I was misinterpreting it.  I'm sorry.  That is why I was just looking for the clarification.  Thanks.


The last one I have for this panel, I believe, is VECC Technical Conference Question No. 28.


And that is, if you look at the response to AMPCO Interrogatory 22 -- and that can found at tab 6F, schedule 2-22.  Let me see if I can find it myself here.


I guess I was just curious here.  I was -- this was listing a health index for various transformers, and I was going through the list and I noticed Albion had a good health index rating on page 2, if you look at that response.


Then I go down, and I got to the last paragraph in the response to part (b), and the response seemed to be indicating a considerable number of problems with Albion, and I was just trying to reconcile which -- and these problems were one that theoretically, I guess, were driving the need for the work, and I guess I was trying to reconcile the description of those problems with what was characterized in the first part of the response as a good health rating on an overall index.


And I was wondering if you could just help me with that.


MR. SIMPSON:  Once again, the health index is one of the factors used, along with condition and site inspection, age, and impact and number of customers and restoration time.


In this case, it was the trending of the DGA results that is starting to show a bit of a hockey stick from the tests in 2002 through 2011.  They showed signs of overheated cellulose, and this will reduce the insulation effectiveness and the overall life of the transformer.  And it is a signature of increased risk.


MR. HARPER:  Okay, but I guess it wasn't enough to sort of de-rate the health index down to something less than good for the station overall?


MR. SIMPSON:  Again, there is a number of factors that we look at for that asset, including health index and site inspection and other features.


Our company is undertaking a continuous review of that health index process, and in some cases the better data that emerges each year will refine that health index score.


MR. HARPER:  Fine.  Thank you.  Those are all of my questions.


MR. MILLAR:  Thank you, Mr. Harper.


I think Staff will go next, unless someone urgently needs to go, to be on their way, and we will start with Mr. Richmond.

Questions by Mr. Richmond:


MR. RICHMOND:  Yes.  My questions relate to Bremner.  Sorry, technology problems.


My questions relate to Bremner TS.  And just to kick us off, if you could turn up the prefiled evidence, tab 4, schedule B17, page 14, and I will also be referring to, perhaps, an IR or two in there, but that is the main prefiled evidence.


MR. ODELL:  Got it.


MR. RICHMOND:  Okay, thank you.  In there, and quoting lines 7 to 15, where you indicate:

"Therefore either Strachan TS or Esplanade could potentially be expanded to address the immediate need, 72 MVA."


So that says alternatives for supply:

"However, the two stations are each just over 2 kilometres away from Windsor and thus outside of the existing supple area, the Windsor supply area.  In order to offload Windsor, feeders would have to be routed from each of the expanded stations to the Windsor area..."


And then you go on to say that installation work for underground cables to pick up these feeders would be required and there would be a disruption due to construction.  There would be extensive work on major downtown streets.


Do you see that?


MR. ODELL:  Yes, I do.


MR. RICHMOND:  Yes.  So I take that as a good general point, but I know, also, that is in the business you are in.  So have you had any chance, on either of those options, supply from Esplanade or supply from Strachan, to flesh that out further and to see what that -- what would be involved there in respect of what specific routes you would use, what times of day you might work, how to minimize that?


In other words, did you have an opportunity to put together a little bit more of a detailed plan to see the doability of that?


MR. ODELL:  The primary assessment of the medium voltage work associated with Strachan or Esplanade serving the Windsor service area was focussed on the costs associated with that medium voltage civil and electrical connections, which are found in the appendix, the Navigant report.


There is not a substantive amount of work on the rerouting of the duct banks.


MR. RICHMOND:  So it would be fair to say you rejected it on a cost basis, rather than the difficulty of bringing these circuits in through some underground facilities where you have indicated, would it be?


Sorry, that is a question.  Would it be fair to say that?


MR. ODELL:  Sorry, just repeat it as a question, please.


MR. RICHMOND:  So what I think I heard you say there is that even though you had indicated in the prefiled that to bring cables in from these two alternative sites would be problematic, underground facilities disrupted, et cetera, et cetera, but in point of fact it failed the first hurdle, I guess.


You found it to be too expensive.  Is that what I heard you say?


MR. ODELL:  The expense was the primary focus of the assessment of the alternatives.


MR. RICHMOND:  Okay.


MR. ODELL:  However, the statement about the problematic nature of the medium voltage civil work stands.  Notwithstanding the fact that specific routes weren't chosen, as noted in the evidence, we expect that the streets that would be impacted would be Wellington, John, Windsor and Front, and all of those would represent a problematic situation with respect to disruption.


MR. RICHMOND:  Right.  Okay, thank you.


Going on to sort of a tangential point, I know that a few years ago ‑ in fact, I think it was around 2005 - there was a facility put between Esplanade and John by Hydro One, and obviously you folks worked with them on that.  It was a cable tunnel, and primarily it was used to put 115 kV circuit or circuits in.


Are you familiar with that project?


MR. ODELL:  Yes, I am.


MR. RICHMOND:  Yes.  And my understanding was this was no 3‑by‑3 duct bank.  This was a large tunnel, 10 feet high, and I don't know the exact dimensions, but it was substantial cross‑section.


MR. ODELL:  Three metres diameter.


MR. RICHMOND:  Yes.  What we wondered, Board Staff wondered, is that is that something that could be used -- and I am thinking now of the Esplanade option.  If there was some opportunity or some inclination to push off the Bremner and utilize switchgear capacity at Esplanade, could that tunnel be used as a medium to put cables through to, say, unload one switchgear?  And I'm thinking of perhaps ten circuits.


Is that something, do you think, would be feasible, or what is your view on that?


MR. ODELL:  Can I just have a moment?


[Witness panel confers]


MR. ODELL:  In the work that we've done with respect to our high voltage connection for the Bremner facility working with Hydro One, we've become aware of substantive issues with respect to working in proximity of the 115 or 230 kV cables.


I think that would be problematic with respect to operating medium voltage infrastructure in that proximity.  That's an initial expectation.


The other general point, though, is that the service of the downtown area by either Esplanade or Strachan is suboptimal, as indicated in much of our evidence.


MR. RICHMOND:  Yes.  Just to be clear, I was thinking of that more as an interim.  So if you were needing time or time to come to finalizing designs on Bremner -- so that was more my thought.


And just to clarify what you said, did you actually pose that to Hydro One, or is this your conjecturing that they wouldn't care for that option or did you actually ask them?


MR. ODELL:  We have not had those discussions with Hydro One.


MR. RICHMOND:  Okay, thank you.


Perhaps I will ask my colleague, Nabih, to help me with the citation here, and we're looking at -- and I think it is actually referenced in the additional evidence under tab 4, schedule B17 in the package where it is talking about designs.


And it's actually a study, and it's titled

 "City of Toronto Electrical Supply Study:  Adequacy of Transmission Facilities and Transmission Supply for Central Toronto Area, 2006 to 2021."


And the reference is Exhibit J1.1, 16, 729, 2007, and it is a Hydro One document -- sorry, it is a combined.  I see both of your letterheads on it.


Was that in the -- was that in the evidence, Nabih, or is that an additional --


MR. MIKHAIL:  No, it's not.  It's really -- it was part of a previous proceeding by Hydro One for the rates, I think, for 2007.  It is EB-2006-0501.  We have a copy here.  We can always --


MR. CASS:  I was going to ask you if you have a copy you could share with the witnesses to look at.


MR. MIKHAIL:  Yes.  I can give you the only copy I have.


MR. RICHMOND:  I think you referenced it also in your additional evidence, but we are happy to give you that document.


MR. ODELL:  The reference in our additional evidence, are you talking about our Navigant report?


MR. RICHMOND:  No.  It may be in the Navigant report, but it is actually citing former -- it is a narrative that cites various previous studies done by Hydro One.  And perhaps I can get Nabih to give you that citation, where it indicates that there were various studies done previously in the evidence.


MR. ODELL:  We're just looking for the reference in the evidence.


MR. RICHMOND:  Okay.  It may well have been in the Navigant report.


MR. MIKHAIL:  It's in the executive summary.  So if you go to that document I just handed to you and go to the executive summary, which is at the very beginning, and it says it is proposed to provide additional 13.8 kV.  They're talking about options for step-down transmission facilities.


So again, it says:

"It is proposed to provide additional 13.8 kV step-down transmission capacity in the downtown area options (sic)."


Sorry, period.

"Options considered included station expansion at Esplanade or building a new station at the Roundhouse Park site."


And that's the quotation that David is talking about.


MR. ODELL:  Bear with me.  We're just trying to find your reference.


MR. MIKHAIL:  Okay.


[Witness panel confers]


MR. ODELL:  Yes, we found it.


MR. RICHMOND:  Yes.  Thank you.


Basically -- and I know, and your evidence indicates, that these downtown facilities have been looked at a number of times in the past and -- dating back to 1994, some of them, many of those quarterbacked by Hydro One at that time, and what I would be interested in is if you have -- and, say, noting that one in particular, do you have any drawings that show how that facility was put together?


I'm thinking of a single-line diagram, and then perhaps plan and elevation views, because many of those facilities are substantially on the surface; the power equipment is on grade.  Yes, there are some buried facilities, but many of the designs have transformers at the surface, and they're cloaked by building segments and whatnot.


So I am -- I was just interested to see if you had those designs and could bring them forward, to compare them to the existing design you have currently.


MR. ODELL:  Bear with me.  I will find you a reference.


MR. RICHMOND:  Thank you.


MR. ODELL:  If you reference appendix 4 of our application, the decision on the Bremner TS site, the -- I won't go through the entire appendix, but it references the historical treatment of the various alternative sites in the -- in downtown Toronto, and then specifically references letters from the city of Toronto Real Estate Services to Hydro One, looking at some of the options.


But there is a Roundhouse hydro options land sketch in that package.


MR. RICHMOND:  I did see it.  Is that with the package, letters to Mike Sheehan?  Is that the ones you're talking?


MR. ODELL:  Yes.


MR. RICHMOND:  Yes, I did see that sketch and actually that was going to be a question.


It is sort of a plan view, but I don't see anything in the way of elevation or to –- could see how it would actually fit together.  Do you have something on that?


MR. ODELL:  No, we do not have an elevation view of that, but that is a plan view of their proposal for the Roundhouse site.


MR. RICHMOND:  Yes.  Is that something you could get?  Would you be willing to take an undertaking on that?


[Witness panel confers]


MR. ODELL:  We will take an undertaking on that.  I don't know how fast we can turn that around.  We have spent quite a bit of time trying to establish the historical developments on the site with respect to the previous owners.


So there may be some difficulty, but we will make an effort to obtain more information than this plan view.


MR. RICHMOND:  Thank you.


MR. MILLAR:  JT1.18. 

UNDERTAKING NO. JT1.18:  to MAKE BEST EFFORTS TO PROVIDE AN ELEVATION VIEW OF PROPOSED ROUNDHOUSE PARK TS.

MR. CASS:  I think you could consider that a best-efforts sort of undertaking.


MR. RICHMOND:  Now, when you indicated information in your application, I mean, I did see a number of things in there like renderings and whatnot and sort of boxes, but I didn't see anything in the way of a full staged development.  Am I missing something?


In your current application, I didn't see a plan in sections.  I saw the renderings, sort of side panels of a building, without seeing what is behind it.


Is there something more developed that you have, that I am missing?


MR. ODELL:  If you're requesting detailed engineering drawings, we have those drawings.  So the question would be what detail would you like to --


MR. RICHMOND:  Well, I wasn't -- all I would like is a section view of each floor, if that was available, or a few floors, and an elevation view of a couple of sides.  It doesn't have to be detailed.  That really was all I was looking for.


MR. CASS:  Dave, I apologize.  I don't have the document that the witnesses are looking at.  I don't know where any of this is leading, and I apologize for that.


What is the purpose of wanting section views of the floors?


MR. RICHMOND:  Well, the purpose is really to compare the alternatives, I think, and to see if there are alternatives.  I mean, I think the case has been made in your application that this is the very best proposal, but it is hard to ascertain that.  There were a number of designs done before, for instance, that were also seen to be very good at that time.


So it was really just to see what -- I don't know of any project that we've seen yet where we -- there was no drawing put forward to see what's in there.


MR. MIKHAIL:  If I can add also some context to this, the option forward that is option A -- there is option B, which is above grade, that has not been sort of pursued.  It was described in some detail and then stopped.


And we want to see how option B compared to other plans for the Roundhouse, and also compare it to other stations that were built by Toronto Hydro in the past, in the not distant past.


So there is above grade options that we want to see why is this one different and why the cost is the way it is, because when they responded to some interrogatories, the costs are almost comparable because of the way it's been laid out having the transformers on the second floor, and it requires huge, big reinforcement to the building.  So that is the reason.


We are not really just asking for information.  There is reason behind it.


MR. CASS:  It would strike me, if those are your questions, there would be a more direct way of just putting those questions to the witnesses rather than getting into these --


MR. MIKHAIL:  Well, you have asked the question why we're asking, so I am just explaining to you why.


MR. CASS:  Well, yes, but you were describing a scenario on which equipment would be on a second floor and what the implications of that are.  I would have thought you could ask the witnesses those sort of questions, rather than requesting these planned views.


MR. MIKHAIL:  Well, you know, when you want to compare something to something else, you need to have something that is more sort of meaningful to look at, rather than just...


MR. ODELL:  I think I might add some clarity on this with respect to the options that have been considered.


And it is -- in our business case analysis, we have defined the current state of the Bremner project in comparison to the alternatives.  And the question that you are asking or the direction that you are taking appears to be, Show us what the detailed design of the station is and show us a similar detail for alternatives.


Well, what is stated clearly in the evidence is we have gone through over a year of detailed design development for the Bremner station, and we have order of magnitude concepts for the alternatives.


In order to compare those two -- I think you will be somewhat disappointed in the ability to compare the two.  We have drawings that are ready for tender for the Bremner project.


MR. RICHMOND:  Well, with respect, that wasn't what I am asking, but I will move on.


MR. ODELL:  All right.


MR. RICHMOND:  I believe you indicated in your evidence that the IBI Group was selected to do the design and construction?


MR. ODELL:  Yes.


MR. RICHMOND:  And obviously that was based on a number of criteria.  How many of these transmission facilities have they designed before?


MR. ODELL:  I can't give you that number.  I can take that as an undertaking.


MR. RICHMOND:  Okay, thank you.


MR. MILLAR:  JT1.19.

UNDERTAKING NO. JT1.19:  to PROVIDE NUMBER OF TRANSMISSION FACILITIES DESIGNED BY IBI GROUP.

MR. ODELL:  Could I add a little bit of clarification on that?  IBI Group used to be Giffels.  We can look at the historic -- history of the entire organization and the historical work on those stations.


MR. RICHMOND:  Is it Giffels that are doing this one, or is it the traditional IBI Group?


MR. ODELL:  It is Giffels IBI.


MR. RICHMOND:  Okay, I would take both.


MR. ODELL:  From my own personal experience, I worked with Giffels on a transmission station designed over 20 years ago.


MR. RICHMOND:  Perhaps you could add to that how many underground facilities they have done, similar to this.


MR. ODELL:  There is only one other underground station in Canada, so the likelihood is -- I will find the number for you, but...


MR. RICHMOND:  Yes.  Thank you.


Now, speaking of that other one, it's in Vancouver.  You had a team go out there and visit it.  And it was helpful -- I think you had some information in your evidence, tab 4, schedule B-17, appendix 5.


This was the one Mario Arruda and John Fletcher and a few other folks visited Vancouver.


MR. ODELL:  I have it.


MR. RICHMOND:  Yes.  And I thought it was a very helpful report.  Now, in respect to this facility and going forward - and obviously you are hopeful to put it in service - what sort of -- it seems when I read this and when I read other facilities of this nature, this one, the other ones that you have referenced, London, New York, San Diego, there are some significant risks, I would say, in my opinion - you may not share that -- associated with this.


What sort of risk mitigation have you built into your resultant output operations because of the nature of this underground station?  I am thinking of outages, management of those outages.


MR. ODELL:  Your question is about operations or about design risk mitigation?


MR. RICHMOND:  Well, it could be both, because it's about the resultant operations, but I guess to mitigate that you could do something in your design to mitigate that, possibly.


MR. ODELL:  Yes.


[Witness panel confers]


MR. ODELL:  There's many elements of the design that incorporate risk mitigation, as well as lessons learned from the other sites that have been visited.  So I will mention a few.  Is that appropriate?


MR. RICHMOND:  Or let me be more specific.  I just take from your report, there's various things written.  Individuals said it was a high maintenance station.  Individuals said there were cooling problems, as we know there are whenever you put transformers underground, air flow, air handling, managing that.  I think it said there were four outages in a year, or something like that.


So when you read that, how do you plan to mitigate some of those problems?


MR. ODELL:  Well, if you reference that document and turn to the recommendations page associated with the visit to Vancouver, there are actions that were learned.


I would turn you to -- the page is not numbered -- to the second to last page of that document, where we state:

"Various observations to be repeated, as well as observations by the team to be avoided."


One aspect, there's only one battery and charger room, and it is recommended that there be a dual redundant DC supply, 100 percent backup.  That has been incorporated into our design.


There's a large pool and fountain above the station.  We are going to avoid a body of water above our station.


The station was built with exposed bus at 12 kV, and that exposes crews to an unsafe and unnecessary hazard, and metal clad switchgear is being installed in our station as a result.


There are several cranes for the movement of equipment in our facility, and we have spent quite a bit of time on the design of our cooling system to incorporate – A, incorporate it into the site, but B, make it proximate to the sources of heat, which was problematic for the Cathedral Square station.  Shall I go on?


MR. RICHMOND:  No.  I did read those, and several of them -- you did mention the air handling at the end.  Several of them didn't speak to that, but I hear what you're saying.


MR. ODELL:  One of the key issues with respect to our site that I should mention is that we are very aware of the high water table and the propensity for flooding in the downtown in Toronto, and, as a result, the design is essentially a concrete bath tub with sump pumps to ensure that we have all measures in place to avoid a flood.


We have learned from our Dufferin station experience of issues associated with flooding, and the positive lesson there was that, with our control and protection equipment above the station, we avoided serious damage to our protection and control.  Our design has changed to have all of our protection and control in the machine shop annex of the roundhouse to avoid that issue.


MR. RICHMOND:  Okay, thank you.


I believe IBI in their report said they thought -- this was an assertion of theirs, possibly based on their experience.  They thought it would be difficult to get approval for an above-grade design in this area.  Am I correct in that?


MR. ODELL:  Yes.


MR. RICHMOND:  And so did they ever apply for one that was above grade?  And when I say "above grade" I am thinking of the power transformers and not everything above grade; perhaps switchgear could be below.


MR. ODELL:  And I am sure you've read the application, but I point you to the Heritage Impact Assessment that was part of our filing for environmental assessment.


It takes into account the very sensitive nature of this national historic site, and means through which we can comply with the -- with site integration.


And the approach to be taken -- and that's in response to your Interrogatory 56, I think it is -- the approach taken is to ensure that we put our best foot forward with respect to the design that has the most likelihood of meeting the environmental assessment approval.


It is certain that a traditional oil-filled transformer exposed yard, like the Windsor station, in this very sensitive and visible location in the downtown of Toronto would not have a -- a high likelihood of environmental assessment approval.


MR. RICHMOND:  Well, certainly I wasn't thinking of that, but I was thinking of more one like Cecil station, where you attached, as we know, a very favourable architectural review of that, along with others, where the transformers are within an enclosure, a very attractive enclosure, but it is at grade.


So no, I am not thinking of Windsor.  I am thinking of one -- and you reference, helpfully, many of them in that Christopher Hume article.  So I am just wondering if that had been a possibility that you had put forward, or you just felt that, as you -- I think I heard you say you wanted to put the very best design forward --


MR. ODELL:  Best foot forward.


MR. RICHMOND:  -- that you found.


MR. ODELL:  We employed IBI, as well as their heritage architect, who had quite a bit of experience -- in fact, thorough experience -- with the other designs taking place at the Roundhouse Park, and utilized his input to ensure that we had a high likelihood of success with respect to our design.


The intent was to underground as much of the station as possible, and we felt that that was the best foot forward.


We have pursued an above-ground alternative as a prudence check, to see what that would appear, how that would be executed, and we have had a heritage architect's perspective on its likelihood.


MR. RICHMOND:  Okay.  All right.  Thank you.  I think that is all I have on Bremner.


MR. MIKHAIL:  So we can move on to the station power transformers, and I think Bill Harper had asked some questions on that area, but I would like to clarify some aspects of that.


And basically, I am referencing Board Staff 45, IRR 45, AMPCO's IRR 22 and 23.


So in response to AMPCO's 22 -- that's question (a) -- it was stated that the health index for six transformers is fair and one is good, so for the seven transformers that can still function, they're going to be sort of targeted for replacement.


In AMPCO's IRR 23, there was five criteria used to make a decision on a given transformer.


So can you provide some sort of comprehensive response about the seven transformers, how the five criteria applied to each of the seven to reach a decision that they should be replaced?


MR. SIMPSON:  As part of our update, we did some double-checking of the answers provided in that IR for AMPCO 22, and there were some corrections needed.  I will try and step through this, and we'll make sure that is available to you today.


MR. MIKHAIL:  Okay.


MR. SIMPSON:  An example may be useful.


The TR1 at Ellesmere White Abbey, the health index was noted as poor; the correct index is fair.


And again, this is part of our ongoing effort to improve our records and get better data on all of our assets.


The factors considered for that asset were that, A, the transformer age is beyond useful life.  The transformer is leaking, and that involves environmental risk to the area.  And again, certainly that's introducing moisture and contaminants into the oil fluid.


So those are two of the main considerations for Ellesmere White Abbey.


I have similar comments for the other transformers selected.  Would you like to hear those?


MR. MIKHAIL:  If you have them readily, yes, just to go on record, yes.


MR. SIMPSON:  Certainly.  So for Thistletown TR1, health index is fair.


The two main factors on this unit selection are transformer age -- again, beyond service life -- and there's a high DGA dissolved gas analysis in the CO2 element.


MR. MIKHAIL:  Can I just clarify something?  They were, I think, classed as condition 1 for that particular one.  Am I wrong, or...


MR. SIMPSON:  There's a number of factors, again, we look at for each asset: the site inspection, which leads to a condition, the health index, which is our test, and also the age.


So I believe your comment is correct, but what's driving things for this asset is that it has a very high CO2 number, and that indicates the dialectric breakdown.


MR. MIKHAIL:  Okay.


MR. SIMPSON:  I will carry on if you wish.


MR. MIKHAIL:  Yes.


MR. SIMPSON:  Scarborough Golf Club TR 1, the correct health index is fair.  I believe it was previously reported as poor.


The factors, again, for this unit are that the age is beyond useful life and the transformer is leaking, which, again, is posing an environmental risk and introducing moisture and contamination.


MR. MIKHAIL:  Can I just clarify something?  When you say "leaking" is it like minor leaks?  Or is it like huge leaks?  Is it minor leaks that is fixable?  Or is it minor leaks that are beyond fixing?  Or...


MR. SIMPSON:  Because the oil has started leaking, we've likely got corrosion problems inside the unit.  So we don't view it as something that can be repaired.


But it is a slow, continuous leak.


MR. MIKHAIL:  Okay.


MR. SIMPSON:  Just carrying on, Thistletown TR 2 is a fair health index.  Age is beyond useful life.  And the other factor on the dissolved gas analysis is showing a high acid number.  And so that is well understood in the industry, it reflects deterioration.


The next asset is Kingston Morningside TR 1.  Health index is poor.


The factors considered are transformer age is beyond useful life.  The DGA analysis in this case shows a high acetylene content, which indicates internal arcing and a high risk of failure.  It also shows very high moisture in the oil, which has degraded the paper insulation, and those are permanent issues that ask for replacement.


The next asset is Edenbridge TR1, and its correct health index is fair.  Again, the factors considered here are the age of the transformer is beyond useful life, and the DGA tests show an elevated level of ethylene and other combustible gasses.


In the case of the next two assets, the high level TR1 and TR2, the health index is both poor, and my understanding is we don't have recent a DGA on that.


MR. MIKHAIL:  Okay.


MR. SIMPSON:  The Blaketon and Albion TR1 and TR2, respectively, I will back to.  They're just on a separate list.


For Norseman TR1, the health index is fair.  The transformer age is beyond useful life, and the other factor here is the DGA is indicating a high acid number, showing deterioration.


MR. MIKHAIL:  When you say deterioration, you meant insulation, the paper?


MR. SIMPSON:  Yes.


MR. MIKHAIL:  Okay, thanks.  The other asset is Underwriter Crouse TR1, which has a health index of fair, and its age is again beyond useful life.  The DGA is showing elevated moisture, and that has a permanent damage to the paper insulation and reduces dielectric strength.


I wanted to return to the Blaketon and Albion.


MR. MIKHAIL:  Can I just clarify one thing on that Underwriter Crouse?  When you're saying -- okay, age is one; I got that.


Moisture in the oil, is that treatable, something that can be treated to address that?


MR. SIMPSON:  We evaluate each asset as to what measures are appropriate.  In some cases we do consider filtering and replacing the oil, if there hasn't been other internal damage.  For the units that are on this list, that was not judged appropriate, in that there was other damage internal which changing the fluid wouldn't save.


DR. HIGGIN:  Okay, thanks.


MR. SIMPSON:  If I could highlight the Blaketon and Albion, which was in part (b) of that AMPCO IR 22, the condition rating of 3, I will just point you to the evidence.  It was assigned by our independent lab and submitted as part of the DGA evidence.  And for Blaketon, it shows high levels of carbon dioxide, which indicates this overheating heating of the cellulose insulation.


And so that means that the transformer is deteriorating, and the windings are getting to a point where they may have spark and failure.



The other consideration for Blaketon is that it is part of a grid which supports adjacent stations, such as Palmwood and Walney, and so if we lose Blaketon, we lose the ability to support its neighbours, and that will mean higher restoration and outage problems for the area.


And its age is 42, and so it is approaching the service limit there, and the other factors compound that.


In terms of Albion - this is TR2 - the DGA tests show high levels of ethylene, and that tells us the oil is overheating, and that probably is due to a conductor which is a bit bare and overheating inside the unit, and it also shows the carbon monoxide, again, a factor in overheating 

-- a signature of overheating, rather.


So we believe that Albion has deteriorating internal insulation, and we're approaching a hockey stick -- you know, failure point there for that unit.


Albion also has a large number of customers connected, so it's a high impact failure and one that we need to watch very carefully.


So we're asking for those last two units to come out earlier than their service life because of the compounding factors.


MR. MIKHAIL:  Thank you very much.  That's very comprehensive.  Thanks.  The next one is segment B-13.1.  Okay.  In B-13.1, just a clarification.  It's regarding Board Staff IRR 46 and 48 and -- I think mainly 46 and 48.


Basically, we got an indication of the health index for those circuit breakers that they are basically 90 percent in fair or good condition, and I guess, as we heard, that there is so many other criteria, other than the health index, that determines need for replacement.


The four stations that have all circuit breakers with auto re‐closure problems, and there was reference to that, were -- are they going to be done in the -- or the revised 2012-2013 jobs that you have, or not?


MR. SIMPSON:  Could you just clarify?  You referenced B13.1, and perhaps you were wishing to refer to B14, which is the oil circuit breakers section?


MR. MIKHAIL:  I think in 13.1, part of that is replacing oil circuit breakers, is that correct, within the switchgear, or am I wrong?


MR. SIMPSON:  There is a range of breaker types that are up for replacement in the switchgear section, B13.


MR. MIKHAIL:  Okay.  Well, from what I gathered from IRR 46, that there is -- eight of the 12 stations, I think, would not have oil circuit breakers that had that problem, the auto re‐closure problems, so that means that four did.


So if four did have that -- those breakers that have problems, are they included in the '12/2013 projects that you have for 13.1 -- for that segment, I should say?


MR. SIMPSON:  I will have to confirm that and check with some of our staff, an undertaking, please.


MR. MIKHAIL:  Okay.


MR. MILLAR:  JT1.20.

UNDERTAKING NO. JT1.20:  TO CONFIRM THAT BREAKERS with auto re‐closure problems ARE INCLUDED IN THE 2012/2013 PROJECTS IN B13.1.

MR. MIKHAIL:  And the last one is segment B20, metering.  It is just a clarification question, basically for -- in response to Board Staff IRR 62, question (b) -- excuse me just one second.


Yes, in question (b) we asked for a copy of the IESO-approved proposal –- sorry, of Toronto Hydro's proposal to the IESO to complete the full meter upgrades by 2021, and the indication was this was attached as appendix A.


And when we go to appendix A, we find something that is totally different.  It is the Electricity and Gas Inspection Act.


So it is just probably a minor error.  If we can get that filed, that would be fine.


MR. SIMPSON:  An undertaking for that, then.


MR. MILLAR:  JT1.21. 

UNDERTAKING NO. JT1.21:  to PROVIDE THESL'S PROPOSAL TO THE IESO FOR METER UPGRADES, reference Board Staff IRR 62, question (b)

MR. MIKHAIL:  I think the last one we have, I'm sorry, I skipped B16, segment B 16, the downtown station load transfers.  And David will look after that.


MR. RICHMOND:  Yes.  There's a couple of references I have for this.  One is Board Staff IR 53, and the other is your October 31 updated evidence at tab 4, schedule 16, page 1, lines 9 to 12.


And I just have a question, and I will focus the question on the Dufferin-to-Bridgman tie.


And maybe I just don't completely understand the end state of this, but when I look at Bridgman, it is a station with four switchgears in it, and depending on whether -- I am forgetting whether the capacities are 48 MVA or 72, but let's say it is 250 MVA, Bridgman a little less, and then coming out of Dufferin maybe 60, 75 feeders.


Perhaps I don't, as I say, I don't understand the end state, but I am having trouble understanding how a pair of feeder ties to cables can really relieve much of the load.


And I think in your updated evidence that the spend was going to be 9.4 million.


So are you planning to do more of these?  Or what is sort of the philosophy on this inter-station tie?


MR. SIMPSON:  Your memory is very good, David.


It's fair to say that the station feeder ties will not eliminate all possible problems, but the program we're working on is this.


We recognize that the downtown stations lack redundancy between the stations, because of the radial system design, and that has pros and cons.


We are fortunate to have reasonably good transmission supply into those stations, and good redundancy within the station between switchgear line-ups and equipment.


But if we have a transmission loss of supply, we have very little we can do because of the legacy design.


So this is a long-term program to improve redundancy between the downtown stations, and pick up load and restore it quickly, which would otherwise have been lost for very long durations.


It's not a quick overnight fix.  It needs the civil structure and the feeders routed, and the controls at each end, but it's, we believe, a very important program in reducing that outage time which these customers would otherwise face.


In our evidence, we've indicated over the past few years what the improvement could be for avoiding those outages.


And again, we're not picking up all of the station capacity, but in the instance of Bridgman and Dufferin, it is of the order of 15 to 30 percent of that capacity that can be picked up.


And that means a high number of customers who can have their reliability improved.


MR. RICHMOND:  So these two feeders are quite high-capacity feeders and they're not a typical feeder.  If you're picking up 30 percent of a station load, that's very substantial?


MR. SIMPSON:  Fair point.  We're treating it as an area design and trying to, you know, choose the priority feeders really where, A, we can do it, and B, it has a solid impact.


MR. RICHMOND:  So the intent over time is to add more?  Is that the case?


Because it is hard to pick up 65 with two, the intention is to build on this in future?  Is that fair to say?


MR. SIMPSON:  Yes.  It's part of a long-term program to improve reliability in those -- basically radial system downtown.


MR. RICHMOND:  Okay.  Thank you, then.


MR. MILLAR:  Thank you, David.


We're going to take a break, but just before we do, I did a quick time check.  I didn't see anyone else for this panel, but I missed you, Mr. Brett.  Did you have questions for this panel?


MR. BRETT:  No, I don't.


MR. MILLAR:  So I think, subject to being corrected, that we're done with this panel.  So thank you, panel.  Those who have a flight to catch, safe travel and happy Thanksgiving.


We will take a break now for 15 minutes and come back with the next panel.  Thank you.


--- Recess taken at 3:31 p.m.


--- On resuming at 3:47 p.m.

MR. MILLAR:  Good afternoon, everyone.  I think we will get started.  We have our panel 1A now, I believe.  Mr. Cass, would you like to introduce the panel, and then I believe Mr. Faye was going to go first with his questions.


MR. CASS:  Yes.  We have the panel that we have been referring to as panel 1A.  Closest to the reporter is Sam Sadeghi.  Beside Sam is Mike Walker, then Arthur Berdichevsky, and finally Rob Otal.


I think the questions can proceed any time.


MR. MILLAR:  Mr. Faye.

THESL – PANEL 1, CAPITAL PLANNING PROCESSES


Arthur Berdichevsky


Robert Otal

Sam Sadeghi


Michael Walker


MR. FAYE:  Thank you.  Panel, my first question is a carryover from panel 2, that they referred this question on to you folks.


And this has to do with our interrogatory 6F, 7-24.  If you turn that up and look at part (c), and then look specifically at page 9 of that response.  Do you have that?


MR. WALKER:  Yes.


MR. FAYE:  So this is from the feeder investment model, some of these numbers, or some of these numbers go into the feeder investment model; do I have that right?


MR. OTAL:  Mr. Faye, I believe I can answer that question.  So these particular numbers were generated through our Ellipse system, so these were new unit costs that were developed.


The ones that are used within the feeder investment model would be very similar to the ones used here, but for the purposes of answering this particular interrogatory question, a new set of numbers were generated from within our ERP system.


MR. FAYE:  Okay.  So then my specific question is -- this is embodied in part (c) of our Technical Conference Question.  Give me a minute and I will tell you what question that was.


This is Technical Conference No. 3 for Energy Probe, and our part (c) looked at the cost of repairing a faulted cable in the direct buried situation, and on this chart that we've just looked at on page 7 that number is $6,166.


And then the cost to repair a similar fault, but when it is in concrete-encased duct, was 6,171.


Now, the latter situation is then broken down in the final column to $61.71, and I take that to be just the lump sum amount divided by the segment length, which was 100 metres.  I think that is correct, is it?  That is how you get to $61.71?


[Witness panel confers]


MR. OTAL:  That would be correct.  That would be correct.


MR. FAYE:  Okay.  Now, you said that there is analogous costs in the feeder investment model, that these actually come out of a different system.


In the feeder investment model, how is the comparable number, the $61.71 -- the comparable number to that that goes into your investment model, how is that used in the model?


MR. OTAL:  So in this case, the replacement costs within the feeder investment model for essentially repairing a direct buried cable would be used as part of the cost if the asset failed.


So if the existing direct buried cable were to encounter a failure, the cost of splicing the cable to account for the fault, that would be included as part of that cost.


MR. FAYE:  As part of the asset risk cost?


MR. OTAL:  As part of the total cost associated with the outage.


MR. FAYE:  Does it play any part in what you called asset risk cost in that model, or is that one in the same thing?


MR. OTAL:  That is correct.  It would be part of that risk cost.


MR. FAYE:  All right.  So now move back up to the direct buried situation.  The number that goes in in that situation to your feeder investment model to compare these two options would be $6,166, right, as the cost to repair a fault?


MR. OTAL:  I wouldn't have that specific cost with me right now.


MR. FAYE:  Well, it is a comparable cost.  Maybe it's $6,600, maybe it is 5,000, but this is a comparable cost that represents the cost of repairing the direct buried cable, and it's the total cost.


It's not a per-metre cost, is what I am getting at; right?


[Witness panel confers]


MR. OTAL:  So in this case, it is -- the cost associated with repairing the faulted direct buried cable would just be the one-time cost.  It would not be on a per-metre basis when we're dealing with direct buried cable.  So it would just be the cost of splicing that one cable.


MR. FAYE:  Okay.  So can I conclude, then, that the way your model analyzes the costs of the cable in concrete-encased duct, does it take a 100-metre segment and say, when I have a fault, I have to multiply this unit cost, this per-metre cost, by 100 metres, because you're wasting 100 metres of cable; right?


When you pull that cable out, you can't reuse it.  A new 100 metres goes in.  What does the model assume?  One metre is wasted or 100 metres?


MR. OTAL:  So if you're replacing cables that are in concrete-encased conduit, in that instance you're pulling the entire cable segment out, replacing it with a brand new cable segment.


So that cost is now going to be on a per-meter basis, based on the specific length of the cable segment that you're replacing.  If it's a direct buried cable we have to splice, there's a splice cost.  If it's a cable in conduit, we pull that cable segment out, put a new cable segment in, and that replacement cost is based on the metres of the segment that's being replaced.


MR. FAYE:  All right.  So at the point where you are running this model, you don't yet have your buried duct bank structure.  What number gets assigned to a cable fault in duct as the length that has to be replaced?


MR. OTAL:  Sorry, can you repeat that question once more?


MR. FAYE:  Well, your previous answer suggests that you've got a per-metre cost to replace cable that is in concrete-encased duct when it fails.


And the suggestion is that all you have to do is multiply that by the length of the cable you pull out.  But since you haven't designed that system yet, you don't know what the distance between manholes or submersible units is; you have to have some proxy for that.


Is that proxy 100 metres, as it is used in this chart here?


MR. OTAL:  So just to understand your question, you're saying that for the new asset, if you decide to install a new asset to replace the existing direct buried cable, and you want to know what would be the cost associated of replacing that new asset which is now in conduit.


That would be a per-metre cost, and it's based on the -- it would be based on the same length of the existing direct buried cable.  So if you're replacing 100 metres of direct buried cable as part of a segment with new 100 metres of direct buried -- sorry, new 100 metres of concrete-encased cable, then if you replace that new concrete-encased cable in the future, the replacement cost would be based on that specific distance, that 100 metres of concrete-encased cable, that new asset.


MR. FAYE:  All right.  So the question arises, then, you don't know -- do you put in every specific interval of the underground system, so submersible 1 to submersible 2 is 110 metres, 2 to 3 is 85 metres?  Does all of that go into the program?  Or does an average number go in?  When you are doing this analysis?


As I say, you haven't built the system yet, so all you have is the direct buried system.  Does someone go out and measure the distance between each of those submersible transformers and input that to the program?


MR. OTAL:  So when we're performing a business case evaluation within the feeder investment model, we can either treat the assets as like-for-like replacements, or non-in-kind replacements.


So a like-for-like replacement would be replacing 100 metres of direct buried cable with an assumed 100 metres of cable in concrete-encased conduit, as per our standard.  We're assuming the same distance.


On the other hand, if you decide to adjust the distances now, so if you're re-configuring a portion of the system, you're taking existing distances of direct buried cable out and installing new cables installed in concrete-encased conduit that would be of different distances -- because you're spacing your assets differently -- that is a non-in-kind business case.  And we would have to define what those new assets would be, and that would be a non-in-kind business case.


MR. FAYE:  All right.  Well, I think I heard from Mr. Kerr that 100 metres is not an unusual spacing for submersibles.  And so I am going to -- for the sake of this conference, I am going to conclude that it is close to 100 metres that the feeder investment model uses as its   replacement length of cable in conduit.


Do you think that is a reasonable conclusion for me to draw?


MR. OTAL:  No.  I wouldn't agree with that statement.


The feeder investment model would use the lengths of the existing cable segments that we are replacing within the system, and those lengths can vary from cable segment to cable segment.


MR. FAYE:  Okay.  Can you give me a range, then?  How much variability is there, and what's a roundhouse number on the limits?


MR. OTAL:  We are not using any average cable segment distances.  We are only using actual cable segments and actual cable segment distances.


MR. FAYE:  Okay.  Thanks for that.


The next question I have has to do with tab 6F, schedule 7-44.  This one is also to do with the feeder investment model.


And in this IR, we asked you to prepare the results for front lot overhead evaluation.  And there is 100 and some-odd pages of output.


I just want to clarify some of the things that -- to make sure I understand what I'm looking at.


There is a column in these pages called "Years to optimal intervention," and there is a year number beside each of the types of plant that you see there.


Sometimes -- I'm looking at just an example, page 90.  It is underground cable, and years to optimal intervention in some are 99 years, some are 77, you know, there is an 87.


Can you explain why -- why is there a variability in the years to optimal intervention?


MR. OTAL:  So that particular table that you're looking at, that is illustrating the results for the new assets that would be installed into the system.


So this is an example of a non-in-kind business case, and we're installing new underground front lot plant and so these are new underground cable segments.


MR. FAYE:  Yes.  So some -- some look to me to be good for 99 years, others 77 years, but it's the same cable, right?


MR. OTAL:  Well, the optimal intervention time would vary based upon the risk calculation, and it would also be connected to the failure probability of the asset, which is calculated based upon the distance of the cable segments being evaluated.


MR. FAYE:  All right.  That sort of explains my next question as to why the dollar numbers in the final column would vary so radically.


So looking at the third entry down, "VUC 37 467", it is $79 is the net present value of the projected risk cost, and the one right above it is 10,398.


So should I conclude from that that there is a hundred-fold difference in the length of those cables?


MR. OTAL:  These risk costs would vary depending on the distances of those cable segments.  And yes, the distances can vary significantly from area to area.


MR. FAYE:  Okay.  So back to the previous column, it's all the same kind of cable.  There's varying lengths, but years to optimal intervention, is that a function of the length of cable that is in the ground on each segment?


I would have thought that's asset life-related, but I don't know your model.


MR. OTAL:  So we defined the optimal intervention timing calculation within one of our interrogatory responses, under VECC Interrogatory 30.


And, basically, in that answer we indicate that to determine the optimal intervention timing of the existing asset, we will begin with the new asset.  We consider the new asset's capital and risk costs.  These are annualized across the life cycle of the asset.  The total of those annualized costs, the sum total, gives us the total life cycle costs or total operating costs of that new asset.


And we want to replace that asset ideally at the minimum point on that operating cost curve, but we have to consider the fact that the existing asset, the new asset, may have different risks.  We're going to cross-reference that minimum operating cost to the existing asset's risk cost curve, and that is how we're going to determine exactly when to intervene upon that existing asset.


So in this case, optimal intervention timing, it's going to be driven by not just the risk cost of the existing asset, but also the parameters of the new asset that is going to be installed.  So it's going to consider the annualized capital, the capital costs of that new asset, as well.


MR. FAYE:  Okay.  I think I do see what you're getting at.  Could you flip to page 138?  There's an easier example.  We don't have to get into lengths of cable, because these are transformers.  They're discrete pieces of equipment.


138, the first transformer there says:  Years to optimal intervention, 16.  If you go down the list a little bit, there is one optimal -- years to optimal intervention is 33.


Considering what you just explained to me, does this mean that the transformer -- that years to optimal intervention 16 is replacing is a more aged transformer than the one that is years to optimal intervention 33?  Is that a fair conclusion?


It is a relationship between what's there right now and the useful life of a brand new one?


MR. OTAL:  No.  These transformers would all be brand new assets.  So in this particular instance, the difference with the optimal intervention timing really depends on how that new transformer is assumed to be configured in this particular business case.


And so based upon the way that transformer is assumed to be configured, it's saying that that new asset would have an optimal intervention time of 16 years.


MR. FAYE:  Maybe you can just explain what you mean by "configured".


MR. OTAL:  So it would really depend on the connected load associated where that transformer is installed in that area, and that would be used as part of that risk cost calculation for that new asset.


MR. FAYE:  But they're all new transformers.  They're all of the same type, maybe even the same manufacturer.  Would they all be the same kVA rating?


[Witness panel confers]


MR. OTAL:  So each of these transformers would have a different loading associated with them, and so that would contribute to these optimal intervention timing results.


MR. FAYE:  Okay, I understand what you're saying.  Thank you.


If we look just below that chart on page 138, here we have the projected non-asset risk costs of underground front lot, and it's zero.  So I understood from Mr. Kerr that non-asset risks is those risks not directly related to the asset's inheritabilities, itself.  It, on overhead, is a simple one to understand.  It is a tree branch hitting the conductor or stroke of lightning hitting a lightning arrester.


For underground, I think there is two questions I want to ask.  One is that in some cases, I don't know how many, your underground subdivision is actually fed ultimately from an overhead source.  An overhead feeder comes out of an MS, arrives close to the subdivision, and then dips underground.


Are faults on the overhead portion a non-asset related risk of that underground?


[Witness panel confers]


MR. OTAL:  So in this particular business case, the non-asset risks are calculated just to the specific area of study, just to the regions where that segment and where those jobs exist.  And so in this case, all we're looking at is the new state of assets, which would be underground infrastructure.  And in this case, because it's concrete-encased cable infrastructure, the non-asset risks would be zero for that area.


MR. FAYE:  Okay.  So then it is not really related to what the customer sees?  If the overhead portion goes out, the underground necessarily follows.  So the customer still sees an outage.  It is just that you don't put your $30 per event and $15 per kVA-hour on that outage if it's a concrete-encased duct system; right?


[Witness panel confers]


MR. OTAL:  So the way the non-asset risks are calculated, in this case for the underground we're just looking at the underground infrastructure that's going to go in.


When we look at the existing state of assets, which is the overhead infrastructure, again, we're just evaluating whatever is within that area of analysis, those jobs, that overhead rear lot segment.


And so when we take the non-asset risks, we're taking, again, those on a feeder level.  We're converting that to a per-metre basis and normalizing that just to the area of study.


And so when we convert this to underground in that area of study, there's going to be no more non-asset risks when the cables are in concrete-encased conduit.


But on the overhead side, we certainly are capturing the impacts to customers with respect to non-asset related events, and that's where we're capturing all of those incidents associated with the overhead infrastructure and the non-asset related events that could take place.


MR. FAYE:  Okay.  And that is why that non-asset related risk remains for rebuilding rear lot overhead in kind?  You haven't got rid of the overhead, so you still have all of those non-asset related risks that impacted it before.  Is that why the numbers stay the same?


[Witness panel confers]


MR. OTAL:  So just to confirm, if you're going to replace existing overhead rear lot with a new overhead system, then you're going to have still overhead non-asset related risks.


If you install an underground system as per our standards, underground front lot in this instance, with a concrete-encased cable infrastructure, then the non-asset risks will certainly be different in this instance because, again, we're just looking at the area of study, which is all underground infrastructure now.


MR. FAYE:  Right.  So if you were to replace the rear lot overhead conductor with insulated cable, tree cable, would that lower the non-asset risk on the back lot construction part of the system?


MR. OTAL:  Sorry, could you repeat that question once more?


MR. FAYE:  Well, part of the problem with back lot is it is bare conductor.  A tree branch hits it, you get an outage.  But if you put in insulated aerial cable, a tree branch touches it, no outage, unless it breaks, breaks the conductor right off somehow.


So my question is:  If you analyze rear lot construction rebuilt with insulated cable, does that change the non-asset risk profile of that?


[Witness panel confers]


MR. OTAL:  We may see an impact to the non-asset related risks.  I don't have that data on me right now, in terms of what would be the impacts of overhead-related non-asset events when you have the conductor insulated.


But, again, there's a number of other factors here as to why we have to go ahead with these rear lot jobs as part of the segment.


MR. FAYE:  Oh, yeah, I understand that.  I was just -- in general, the direction is right, though?  Getting rid of bare conductor in backyards does lower the risk of an outage from a tree branch contacting the conductor, right?  Or am I wrong on that?


[Witness panel confers]


MR. OTAL:  There may be an adjustment to the non-asset risk, if you are to install insulated conductor.


But again, we don't have that data to be able to say what that would be, what that adjustment would be.


MR. FAYE:  Okay.  So my next question was:  Could you rerun the model with tree cable instead of bare conductor on the rear lot construction?


You do have a part of the model presented in this IR that says:  If we were just to replace like for like in the backyard, here's all of the costs, the non-asset risk, the asset risk, the capital cost.


Can you run that model with insulated cable on those poles and tell me what the difference is, then?


[Witness panel confers]


MR. OTAL:  In this case, installing insulated conductors is simply not something that we do, and it's -- so we would not run that type of analysis, because it is simply not something that we do.


MR. FAYE:  Okay.  I will leave it at that.


I've got one more question, if I can remember where it is on this page.  Oh, yeah.


You said that the reason the non-asset risk costs for underground in concrete duct bank is zero, is that nothing can get at it and cause an outage.


Did I -- is that an accurate summary of what you meant?


MR. OTAL:  That is correct.


MR. FAYE:  Okay.  So let's go out to the main crossroad where the overhead conductor is, and now you are going to dip underground with an underground conductor, and the underground conductors go up that pole.


So now your underground conductor is exposed.


So is there not a non-asset risk involved in that exposed conductor?  Is it not exposed to cars hitting the pole?  To lightning?


MR. OTAL:  In this case, the non-asset risk calculation just reflects the geographical boundaries of what we're studying, which in this case it is all converted to underground.


So we're not looking at any of the plant that's going to remain overhead, essentially.


And that's true for the existing state, the overhead non-asset risk, and the underground non-asset risk.


So any overhead riser poles that would remain that are outside of the boundary of that -- of that segment, they would have not been included in the existing state of overhead assets when we calculated their non-asset risks, and so it wouldn't be included in the new state for the underground assets.


MR. FAYE:  Okay.  Let's take an example, then, closer in to the subdivision.


You use pad-mounted transformers in some situations, do you?


MR. OTAL:  That is correct.


MR. FAYE:  So there's a piece of equipment exposed to cars.  It's not uncommon at all in my experience for cars to hit pad-mounted transformers and cause an outage.


Would that be a non-asset related risk of that underground portion?


[Witness panel confers]


MR. OTAL:  We don't track those types of non-asset risks within our system.


MR. FAYE:  But they do exist, though, don't they?


MR. OTAL:  Well, we wouldn't have any of that information within our outage system, that system that we're using to calculate those non-asset risks.


MR. FAYE:  Okay.  I think I understand why you're concluding a non-asset risk is zero.


I think that is all of my questions.  Thanks a lot.


MR. DAVIES:  Thank you, Peter.


Is there anyone who would like to go next?  If there is no one else, Staff can go.  I think the plan would be to go until 5:00 today, if that is agreeable to everyone.


Tom, do you want to go?

Questions by Mr. Brett:


MR. BRETT:  I just want to ask one quick question, following up on that line of questioning.


Mr. Otal, I think you said that -- I've forgotten just the phrase you used, but the point of most likely intervention is at the low point, the optimal point on the operations cost curve.


So do you have a sort of a U-shaped curve for your -- the reach of your assets that shows a low point on the curve?  I mean, the operational -- the costs of maintenance start higher, descend and then start to rise again?  And you want to -- your point of intervention is at the low point on that curve?  Is that...


And that, in turn, is a function of the existing loading on that asset and likely future loading on that asset; is that a fair summary of what you are saying there?


MR. OTAL:  So just to elaborate on that point, so with respect to the new asset, we're going to have an annualized capital cost that is associated with that new asset.  We're also going to have an annualized risk cost that is associated with that new asset.


And the sum total of those two components would give us the life cycle cost.  Okay?


And it is, yes, the minimum point on that life cycle cost curve, and we're going to cross-reference that to the existing asset's risk cost curve.


The existing asset will have the same load.  It's based on where that asset is connected within its given area.  So whatever load is on it right now, that's the assumed load of that asset, as part of that study.  We're not saying that that load is going to change in that analysis.


What is changing is the probability of failure of that existing asset, and then also the probability of failure of the new asset.  And you also have that annualized capital cost component.


MR. BRETT:  All right.  Thank you.


MR. DAVIES:  Is there any other intervenor who would like to ask questions?  Or should Staff ask --


MS. GRICE:  I can start.  I am not sure if my questions are of this panel or panel 4.


MR. DAVIES:  Okay.


MS. GRICE:  Should I give it a shot?


MR. DAVIES:  Sure, yes.

Questions by Ms. Grice:


MS. GRICE:  Hi.  My name is Shelley Grice and I am representing AMPCO.


The first question I have has to do with the Board's regulatory framework.  So would that be panel 1 or panel 4?


MR. WALKER:  I think that would be panel 4.


MS. GRICE:  Okay.  I also have some questions on reliability.  Would that be panel 1 or panel 4?


MR. WALKER:  That would be us.


MS. GRICE:  That would be you?  Okay.  I have just a couple of questions on reliability.  The reference I have is tab 6F, schedule 2-5, and it is an AMPCO interrogatory and it's AMPCO No. 5.


Okay.  What we asked there was for Toronto Hydro's recent reliability statistics, and, based on the results, it appears that the reliability statistics are better in 2011.


And I just -- we just had a follow-up question, if you could just provide a bit of an explanation why that would be, and then how those results were taken into consideration in the prioritization of the projects for 2012-2013.


MR. OTAL:  So in terms of the reliability -- and I'm assuming we're looking at the table from 2008 to 2011; is that correct?


MS. GRICE:  That is correct.


MR. OTAL:  So the one thing that's remained consistent within this time frame is that of all of our cause code contributors, defective equipment still accounts for roughly 50 percent of all of our outages within our system year after year.  And so that still demonstrates the need of doing this work and doing this work now.


In general, if we look at our reliability, from 2003 till 2011 reliability, you know, hasn't changed significantly within that period in time, and what we're really looking for in terms of reliability is to be more closely aligned with the reliability of world class cities.  And we've still got a long way to go before we reach the reliability levels of those world class cities.


MS. GRICE:  Okay.  But just based on the trending in 2011 -- and I believe there was another interrogatory response.  Just bear with me.  It is Board Staff 23, where 2012 is also showing better reliability statistics.


I just wondered, then, based on that, if any -- if that information impacted the projects that you put forward for 2012-2013?


MR. OTAL:  So if I may, I just wanted to reference this particular interrogatory specifically, and we did say that, yes, the 2012 year date reliability indicators have been better than expectations, but this is essentially reduced to -- sorry, this is related to really what is better weather conditions this year.  It's been a milder year in terms of weather, reduced weather-related outages, and, again, the interrogatory continues really reinforcing the point and the point I just made before.  We don't consider our reliability results to be good.  Average reliability statistics are really masking the degradations, the reliability degradations, in specific locations we deem essential to address.


And, you know, in terms of the work that has been put forward as part of this application, we absolutely have to go ahead with these investments in order to significantly improve reliability to get better alignment with that of world class cities.


MS. GRICE:  In the update that Toronto Hydro filed, you said that some or certain projects did not meet the standard of urgency and priority.


So just based on that, the determination of which projects didn't meet the standard of urgency and priority, that wasn't because -- I'm just wondering, was there a link to the reliability statistics in making that determination, or can I take it there was no link at all?


MR. WALKER:  I'm sorry, can you provide the reference?


MS. GRICE:  Sure.  Give me one second.  I think it is Board Staff 15, and I've got it here.  It says:

"As part of process of constructing the present application, THESL sought to eliminate projects that had been proposed in EB-2011-0144 which, while necessary, have been determined not to meet the standard of urgency and priority that characterize the work included in this ICM application."


So I guess I have -- I had a question on that, as well, in terms of how was this determined in terms of which projects met the standard of urgency and priority, but it led me to think:  Is there a connection in the determination to the reliability statistics?  That is also part of my question.


MR. BERDICHEVSKY:  So Arthur Berdichevsky here.  I can take this question.  Reliability was definitely one of the major aspects that we took into account beside the other ones that are safety, legal and any other considerations.


So really going from one to another, we looked just at criteria that we absolutely have to do the work that we've chosen from moving from cost of service to the ICM.


MS. GRICE:  Okay.  Just going back to AMPCO Interrogatory No. 5, and in part (c), you provided percentages of the breakdown of the types of equipment based on -- types of equipment failures, pardon me, based on customer hours interrupted for 2010 and 2011.  And underground equipment, and then overhead equipment, were the highest percentages of failure.


And I just wanted to understand how those percentages relate to the projects, again, that were put forward in the proposed spending for 2012-2013.


Was there a conscious effort to focus in those areas as part of the capital plan?


MR. BERDICHEVSKY:  Yes, there was.


MS. GRICE:  Can you just elaborate a little bit more on how that came to be?


MR. BERDICHEVSKY:  So we have -- sure, of course.  We have projects that are primarily driven by reliability, and, for example, some FESI projects that are feeders experiencing sustained interruptions.  We have worst performing feeder projects.


We have projects really that we are finding through FIM analysis that the equipment is really close to failing or already beyond the point of being useful.


So all of this criteria was taken into account and is taken into account to really come up with those must-do projects that we are proposing to put forward.


MS. GRICE:  Okay, thank you.  I just had a question -- now this is regarding AMPCO Interrogatory No. 4.


We asked a question in part (e) about discussing the need for the projects in the context of the actual capital spending in 2011.  And in the response, it says that:

"THESL's 2011 capital spending addressed different assets than those included in the specific jobs presented in this application."


I just wanted to better understand what you mean by that, that the capital spending is addressing different assets.


MR. BERDICHEVSKY:  One second.  I have to find this.


Can you please provide -- I'm sorry, can you please provide once again the reference that you are reading from?


MS. GRICE:  Sure.  Sure.  It is tab 6E, schedule 2-4, and it is AMPCO Interrogatory No. 4.


MR. BERDICHEVSKY:  And so what are the exact lines that you are reading from?


MS. GRICE:  Okay.  It is in response to part (c), where we asked:

"Please discuss the need for projects in the context of the actual capital spending in 2011."


And in the response, it says:

"THESL's 2011 capital spending addressed different assets than those included in the specific jobs presented in this application."


We just wanted further clarity on what you meant by the spending in this application addresses different assets.


[Witness panel confers]


MR. WALKER:  I think what we're referring to there is the assets that were involved in the jobs that were carried out in 2011 were a different set of assets than the assets that are involved in the 2012 projects -- the 2012 jobs, I should say.


So it is not a carry-over of the projects.  It is a different set of projects, different set of jobs.


MS. GRICE:  But some of assets would be the same?


MR. WALKER:  Some of the assets would be the same?  Not in -- in new jobs it would be new assets.


MS. GRICE:  But similar asset categories?


MR. WALKER:  Same type of assets.


MS. GRICE:  Okay.  That's...


So just on that line, I just wondered, is -- we were trying to get a sense of the list of projects that you have in 2012-2013 by category and then how that compares to the category of projects in 2011.


And I can't recall the interrogatory, but it was the Schools interrogatory where, I believe, it was stated that that couldn't be done, there couldn't be a comparison made.


But I wanted to further ask what overlap does exist between the categories between 2011 and 2012, if you could just help me out there a little bit with that.


[Witness panel confers]


MR. BERDICHEVSKY:  So to answer this question, I will try to get you through the process, how we were thinking when we were developing ICM and cost of service.


So in cost of service, we took the portfolio approach to the projects that we were putting forward, versus for the ICM, we were looking to different segments, per se.  And so I will give you a few examples.


In cost of service we filed for projects such as stations, infrastructure project, or any modernization type of project, or removing, for example, overhead lines from heavy traffic areas.  And so those projects, I would say they're all in need, but from my perspective or from THESL's perspective, they're not must-do projects.


And therefore we eliminated them, and we looked at each and every job and came up with the only must-do projects that we absolutely have to do in order to keep our system reliable and so forth.

And as a matter of fact, I would like to take also the opportunity while I am answering this question and give you an example.  There was a previous question on the feeder automation type of thing, and I think my colleague Chris Kerr has given a very complete and concise answer and a very good answer.


But for the feeder automation project, it is still in the ICM application.  The reason for this is we considered feeder automation as a remedy to the deteriorating reliability there, and therefore it is for the -- to better explain it, it would be a capital deferral project.  If we would not do the feeder automation project, we will have to go into those areas and heavily invest, because the infrastructure there is failing and the reliability is going down, exactly as my colleague Chris Kerr inferred.


So to go back to the full answer, is we've looked into everything, into all of our assets, into the entire system, and we came up, from cost of service to the ICM, only with the projects that are absolutely must-do projects, to keep lights to our clients, to make our crews and public safe.


And so those are the only projects that we have in the ICM, in this current ICM application.


MS. GRICE:  So there is no way that we can map any of them back to the 2011 capital budget list, which has things like underground system, overhead system, reactive work?


MR. BERDICHEVSKY:  As you mentioned, it would be very, very difficult mapping.  Of course, if you will get down to a specific asset -- so for example, for a transformer on street X, intersection Y -- then you will probably start to see some -- some relations, because obviously we are not talking right now a totally different system.  It is the system that we have, right?


But like I said previously, in our ICM application, the assets that are still left and repackaged -- as a matter of fact, you know, it may be poor choice of words, "repackaged," but the only assets and jobs that we have, these are the most absolutely must-do, and must be addressed right now.


MS. GRICE:  Okay.  Okay.  Thank you.


Just bear with me here.  I am just flipping through, because I know some of these have to go to panel 4.


I do have a question regarding tab 6G, schedule 2-35.  So this is AMPCO Interrogatory No. 35.  I just want to confirm something here.


We asked for Toronto Hydro to identify the proposed capital projects that span one year only.  And the response indicates that:

"All capital projects span the three-year period of the application."


So I just wanted to confirm that in the proposed capital plan for 2012-2013, there isn't a -- there are no capital projects that span one year.  Do we have that right?


MR. WALKER:  Yes.  And to be clear, projects is -- you know, our filing is separated into projects, then segments, then jobs.  But those projects are consistent throughout the entire three-year period.


MS. GRICE:  Oh, I see.  Okay.  Okay.  Got it.  Okay.  That's helpful.  Thank you.  Okay.  I believe that is the end of my questions.  Thank you.


MR. MILLAR:  Thank you very much.  I see we are getting past quarter to 5:00 now.  What I am going to suggest is if there is someone who has a few questions, five or 10 minutes at most, maybe we will try and squeeze that in today so you don't have to come back Friday, necessarily.


Otherwise, I am going to suggest we break for the day.  So is there anyone who really needs to get some questions in by the end of the day today?  For this panel, of course?


Okay.  Hearing nothing, we have had a full day, I think, so thank you to the panel.


We will return on Friday at 9:30.


--- Whereupon the conference adjourned at 4:48 p.m.
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